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12 | 223 == 518 AC12 | BAR | 58.0 A=h-fE 37.6] 30.8] 10.0 27.5 -28.8 29.2| 8.5 ~ 22 | 48600 s 28.5 0s 0.0
13 | 223 I == 4% AC13 | BfR | 58.0 A=h—fil 37.6] 28.8] 10.0 28.5 -29. 1 28.91 8.5 ~ 22 | 48600 s 28. 2 0s 0.0
14 | 225 F 25 4 ACl14 | BiR E| 54.0 F=h—-fiE 58.6| 30.8| 10.0 46.1 -33.3 20.7| 8.5 ~ 22 | 48600 s 20.0 0s 0.0
15 | 253 FH = 41 6% AC15 | BfR | 54.0 A=l 58.6| 28.8] 10.0 46. 7 -33.4 20.6] 8.5 ~ 22 | 48600 s 19.9 0s 0.0
16 |/ R B ] == S RCl | BiR | 63.0 A=l 44.2( 53.2| 10.0 311 -29.9 33.1l 0 ~ 24 | 57600 s 33. 1| 28800 s 33.1
17 |4 1 e P H 22 51 B RC2 [ B L| 53.5 A=h—fiE 46.3| 53.2[ 10.0 33.1 -30. 4 23.11 0 ~ 24 | 57600 s 23.1| 28800 s 23.1
18 |/ FH == 4 RC3 | B L] 63.0 F=h—fi 44.2| 51.3]  10.0 30. 6 -29.7 33.3] 0~ 24 | 57600 s 33.3| 28800 s 33.3
19 |/ BRs I =2 50 RC4 | BR[| 53.5 A= 46.3]  51.3] 10.0 32.6 -30.3 23.2] 0~ 24 | 57600 s 23.2| 28800 s 23.2
20 | 1R =B 41 RCS | BAR | 48.9 A=h—fiE 57.3] 30.5 10.0 45.0 -33.1 15.8] 0~ 24 | 57600 s 15. 8| 28800 s 15.8
21 [ 7 7 o~ F1 1M | 31.5 F=h—fiE 28.0| 33.1 3.0 17.0 -24. 6 6.9]8.5 ~ 22 | 48600 s 6.2 0s 0.0
22 (M7 7 F2 1B | 32.0 A=h—fi 28.0| 32.6 3.0 17. 4 -24. 8 7.2/ 8.5 ~ 22 | 48600 s 6.5 0s 0.0
23R 7 7 F3 1B | 31.5 A=h—{l 28.0| 32.1 3.0 17.7 -25.0 6.5[8.5 ~ 22 | 48600 s 5.8 0s 0.0
24 K7 7~ F4 1B | 32.0 A=l 60.9| 53.8 3.0 46. 2 -33.3 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
25 (M 7 7 F5 10 | 32.0 A=t~ 60.9| 53.3 3.0 46.1 -33.3 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
26 [ 7 7 >~ F6 10 | 32.0 A=h—{ 60.9| 49.1 3.0 45.5 -33.2 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
27T |k 7 7 o~ F7 10 | 32.0 F=h—fE 60.9| 48.8 3.0 45.5 -33.2 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
28 [ 7 7 v F8 1B | 31.5 A=h—fiE 60.9| 48.4 3.0 45.5 -33.2 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
29 [(Ha 7 7 F9 1B | 31.0 A=h—fi 60.9| 45.9 3.0 45.3 -33.1 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
30 [T 7 F10 1R | 42.5 F=h—{ 60.9| 44.9 3.0 45.3 -33.1 9.4/8.5 ~ 22 | 48600 s 8.7 0s 0.0
31T 7 F11 18 | 31.0 A=l 60.9| 37.5 3.0 45.9 -33.2 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
32 (K7 7 v F12 1B | 26.0 A=h—fi 60.9| 36.9 3.0 46. 0 -33.2 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
33 (KT 7 F13 1B | 42.5 P A ) 60.9| 36.5 3.0 46. 0 -33.3 9.2l 0~ 24 | 57600 s 9.2[ 28800 s 9.2
MR T 7 F14 oM | 42.5 F=h—fE 28.0| 34.1 7.3 17. 4 -24.8 17.7 8.5 ~ 22 | 48600 s 17.0 0s 0.0
35 [T 7 F15 10 | 32.0 F=h—-fiE 28.0| 27.8 7.3 21.8 -26.8 5.2/ 8.5 ~ 22 | 48600 s 4.5 0s 0.0
36 (a7 7 F16 1M | 45.0 P A ) 49.5|  72.7 7.3 44. 4 -33.0 12.0/ 8.5 ~ 22 | 48600 s 11.3 0s 0.0
TR T 7 F17 1B | 45.0 F=h—fE 50.9| 72.7 7.3 45.5 -33.2 11.8/ 8.5 ~ 22 | 48600 s 11.1 0s 0.0
3BT 7 F18 1B | 45.0 A=l 53.4| 72.7 7.3 47.5 -33.5 11.5/ 8.5 ~ 22 | 48600 s 10.8 0s 0.0
39 [T 7 v F19 10 | 45.0 A=D1 54.9| 72.7 7.3 48.7 -33.8 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
40 [ 7 7 >~ F20 10 | 45.0 A=h—{ 56.4| 72.7 7.3 49.9 -34.0 11.0/ 8.5 ~ 22 | 48600 s 10.3 0s 0.0
41 |7 7 F21 1B | 45.0 F=h—fE 57.9| 72.7 7.3 51.2 -34. 2 10.8]| 0~ 24 | 57600 s 10. 8| 28800 s 10.8
42 |7 7 F22 1M | 45.0 A=D1 60.9|  69.7 7.3 52.1 -34.3 10.71 0~ 24 | 57600 s 10.7| 28800 s 10.7
43 |7 7 >~ F23 1B | 45.0 A=h—fi 60.9| 68.2 7.3 51.4 -34. 2 10.8/ 8.5 ~ 22 | 48600 s 10. 1 0s 0.0
BT 7~ F24 10 | 45.0 F=h—{ 60.9| 66.7 7.3 50. 7 -34. 1 10.9/ 8.5 ~ 22 | 48600 s 10.2 0s 0.0
45 |57 7 F25 10 | 45.0 A=l 60.9|  65.2 7.3 50. 1 -34.0 11.0/ 8.5 ~ 22 | 48600 s 10.3 0s 0.0
46 |Ha 7 7 >~ F26 1B | 45.0 A=h—fi 60.9| 63.7 7.3 49.5 -33.9 11.1] 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
47 (R 7 7 F27 1M | 45.0 A=h—fE 60.9| 62.2 7.3 48.9 -33.8 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
48 | 7 7 F28 1B | 45.0 A= 62.3|  60.2 7.3 49.6 -33.9 11.1] 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
49 | 7 7 F29 10 | 45.0 F=h—fiE 62.3] 59.1 7.3 49.3 -33.9 11.1] 8.5 ~ 22 | 48600 s 10.4 0s 0.0
50 (#5777 F30 1M | 45.0 P ) 60.9| 29.6 7.3 48.1 -33.6 1.4 0 ~ 24 | 57600 s 11. 4| 28800 s 11.4
mi%%@im%ﬁ 1M | 82.0 *'|F5lxE - - - - - -85 ~ 22| mIFE1 42.6 - -
g [ S 1E X e 1B | 922 1 asy - - - - - -6 ~ 22| mike 33.5 — -
| PEIEMIN SRR 1M | 89.2 FolEEl 587 24.4 1.0 47.6 -33.6 55.6| 6 @~ 22 360 s 33.6 — —
@1%5&%@%m&5%@%%?&— 10 | 91.9 FolEE| 587 24.4 1.0 47.6 -33.6 58.3] 6 ~ 22 70 s 29.1 - -
%%%éﬁ%ﬁﬁ@?%Fuyﬁ 1B | 78.6 FolxFE| 58.7] 24.4 1.0 47.6 -33.6 45.0) 6 ~ 22 300 s 22.2 - -
) fif SIXEBHEETH 1M | 85.5 TFHl&E| 587 24.4 0.0 47.6 -33.6 51.9] 6~ 22 300 s 29. 1 — —
MSTEMTEALE LR | 85.6 M| FhlxE| 58.7| 24.4 0.0 47.6 -33.6 52.0] 6~ 22 50 [A] 21.4 — —
EAmBRE L~ TR R 45.8 dB 36. 7 dB
BRigILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL, 32 TEEIREE (Im) (2R 2 B E & L~V 2R T,

BE LV OTRFREIZIE, EIfEEEZSBE L TRY $HA,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FHH#SA2 (H=4.7m)

TS ERE (X, Y, 72) =(  15.6 44.7 4.7)

TR0 ® HEIR A TR B el
J Sy ?’?E'J{&,ﬁ\ R Lii\o‘ﬁg BE#TE X T ks S o | B e Sl 5
. RN FTO | o BRENGE | TR | BREAkGE | TS
i 7 R e | frE B % v 7 B IR B IR BEfGs) | (205 | KEflGs) | ICBUD
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L

[EE= (G (dB) k= (G (dB)

| LR S AC1 1B | 52.0 A=h—fi 61.4| 52.3 1.0 46. 6 -33. 4 18.6/ 8.5 ~ 22 | 48600 s 17.9 0s 0.0
% 2 |ZEaR =S b AC2 1R | 50.0 A=h—fiE 61.4)  49.8 1.0 46. 2 -33.3 16.7/ 8.5 ~ 22 | 48600 s 16.0 0s 0.0
i% 3 |22 =S AC3 | BiR F| 63.0 A=h—-fE 54.7) 46.9] 10.0 39.6 -31.9 31.1) 8.5 ~ 22 | 48600 s 30. 4 0s 0.0
" 72 22 4% AC4 | BARL| 63.0 F=h—fi 56.1| 46.9] 10.0 40.9 -32.2 30.8/ 8.5 ~ 22 | 48600 s 30.1 0s 0.0
M EEEMRE=I AC5 | BIR L[ 63.0 A= 57.4| 46.9] 10.0 42. 2 -32.5 30.5( 8.5 ~ 22 | 48600 s 29.8 0s 0.0
6 |42 =5k AC6 | R L] 63.0 A=h—fil 58.8| 46.9] 10.0 43.6 -32.8 30.2[ 8.5 ~ 22 | 48600 s 29.5 0s 0.0
7 |ZETH S S ACT | BARL| 60.0 A=t 53.4| 45.0] 10.0 38.2 -31.6 28.4/ 8.5 ~ 22 | 48600 s 27.7 0s 0.0
8 (2= H == 4k AC8 | BRI | 60.0 A=l 54.7| 45.0/ 10.0 39.5 -31.9 28.11 8.5 ~ 22 | 48600 s 27. 4 0s 0.0
9 |4 =S AC9 | BIR | 60.0 A=h—fiE 56.1| 45.0] 10.0 40.8 -32.2 27.8/ 8.5 ~ 22 | 48600 s 27. 1 0s 0.0
10 | 2= FH == 51 8% AC10 | BfR | 63.0 A=l 57.4] 45.0[ 10.0 42.2 -32.5 30.5/ 8.5 ~ 22 | 48600 s 29. 8 0 s 0.0
11 | ZE 78 2= 4 ACI1 | AR L | 60.0 F=h—fi 58.8| 45.0| 10.0 43.5 -32.8 27.2| 8.5 ~ 22 | 48600 s 26.5 0s 0.0
12 | 223 == 518 AC12 | BAR | 58.0 A=h-fE 37.6] 30.8] 10.0 26. 6 -28.5 29.5/ 8.5 ~ 22 | 48600 s 28. 8 0s 0.0
13 | 223 I == 4% AC13 | BfR | 58.0 A=h—fil 37.6] 28.8] 10.0 27.7 -28.8 29.20 8.5 ~ 22 | 48600 s 28.5 0s 0.0
14 | 225 F 25 4 ACl14 | BiR E| 54.0 F=h—-fiE 58.6| 30.8| 10.0 45.5 -33.2 20.8/ 8.5 ~ 22 | 48600 s 20. 1 0s 0.0
15 | 253 FH = 41 6% AC15 | BfR | 54.0 A=l 58.6| 28.8] 10.0 46. 2 -33.3 20.7| 8.5 ~ 22 | 48600 s 20. 0 0s 0.0
16 |/ R B ] == S RCl | BiR | 63.0 A=l 44.2( 53.2| 10.0 30.3 -29.6 33.4f 0~ 24 | 57600 s 33.4| 28800 s 33.4
17 |4 1 e P H 22 51 B RC2 [ B L| 53.5 A=h—fiE 46.3| 53.2[ 10.0 32.3 -30. 2 23.3] 0~ 24 | 57600 s 23.3| 28800 s 23.3
18 |/ FH == 4 RC3 | B L] 63.0 F=h—fi 44.2| 51.3]  10.0 29. 8 -29.5 33.5) 0~ 24 | 57600 s 33.5| 28800 s 33.5
19 |/ BRs I =2 50 RC4 | BR[| 53.5 A= 46.3]  51.3] 10.0 31.9 -30. 1 23.4] 0~ 24 | 57600 s 23. 4| 28800 s 23.4
20 | 1R =B 41 RCS | BAR | 48.9 A=h—fiE 57.3] 30.5 10.0 44. 4 -32.9 16.00 0 ~ 24 | 57600 s 16.0[ 28800 s 16.0
21 [ 7 7 o~ F1 1M | 31.5 F=h—fiE 28.0| 33.1 3.0 17.0 -24. 6 6.9]8.5 ~ 22 | 48600 s 6.2 0s 0.0
22 (M7 7 F2 1B | 32.0 A=h—fi 28.0| 32.6 3.0 17. 4 -24. 8 7.2/ 8.5 ~ 22 | 48600 s 6.5 0s 0.0
23R 7 7 F3 1B | 31.5 A=h—{l 28.0| 32.1 3.0 17.7 -25.0 6.5[8.5 ~ 22 | 48600 s 5.8 0s 0.0
24 K7 7~ F4 1B | 32.0 A=l 60.9| 53.8 3.0 46. 2 -33.3 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
25 (M 7 7 F5 10 | 32.0 A=t~ 60.9| 53.3 3.0 46.1 -33.3 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
26 [ 7 7 >~ F6 10 | 32.0 A=h—{ 60.9| 49.1 3.0 45.5 -33.2 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
27T |k 7 7 o~ F7 10 | 32.0 F=h—fE 60.9| 48.8 3.0 45.5 -33.2 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
28 [ 7 7 v F8 1B | 31.5 A=h—fiE 60.9| 48.4 3.0 45.5 -33.2 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
29 [(Ha 7 7 F9 1B | 31.0 A=h—fi 60.9| 45.9 3.0 45.3 -33.1 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
30 [T 7 F10 1R | 42.5 F=h—{ 60.9| 44.9 3.0 45.3 -33.1 9.4/8.5 ~ 22 | 48600 s 8.7 0s 0.0
31T 7 F11 18 | 31.0 A=l 60.9| 37.5 3.0 45.9 -33.2 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
32 (K7 7 v F12 1B | 26.0 A=h—fi 60.9| 36.9 3.0 46. 0 -33.2 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
33 (KT 7 F13 1B | 42.5 P A ) 60.9| 36.5 3.0 46. 0 -33.3 9.2l 0~ 24 | 57600 s 9.2[ 28800 s 9.2
MR T 7 F14 oM | 42.5 F=h—fE 28.0| 34.1 7.3 16.5 -24.3 18.21 8.5 ~ 22 | 48600 s 17.5 0s 0.0
35 [T 7 F15 10 | 32.0 F=h—-fiE 28.0| 27.8 7.3 21.0 -26.5 5.5[8.5 ~ 22 | 48600 s 4.8 0s 0.0
36 (a7 7 F16 1M | 45.0 P A ) 49.5|  72.7 7.3 44.1 -32.9 12.1/ 8.5 ~ 22 | 48600 s 11.4 0s 0.0
TR T 7 F17 1B | 45.0 F=h—fE 50.9| 72.7 7.3 45.2 -33.1 11.9/ 8.5 ~ 22 | 48600 s 11.2 0s 0.0
3BT 7 F18 1B | 45.0 A=l 53.4| 72.7 7.3 47.2 -33.5 11.5/ 8.5 ~ 22 | 48600 s 10.8 0s 0.0
39 [T 7 v F19 10 | 45.0 A=D1 54.9| 72.7 7.3 48.4 -33.7 11.3/ 8.5 ~ 22 | 48600 s 10.6 0s 0.0
40 [ 7 7 >~ F20 10 | 45.0 A=h—{ 56.4| 72.7 7.3 49. 6 -33.9 11.1]/ 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
41 |7 7 F21 1B | 45.0 F=h—fE 57.9| 72.7 7.3 50.9 -34.1 10.9] 0~ 24 | 57600 s 10.9| 28800 s 10.9
42 |7 7 F22 1M | 45.0 A=D1 60.9|  69.7 7.3 51.8 -34.3 10.71 0~ 24 | 57600 s 10.7| 28800 s 10.7
43 |7 7 >~ F23 1B | 45.0 A=h—fi 60.9| 68.2 7.3 51.1 -34. 2 10.8/ 8.5 ~ 22 | 48600 s 10. 1 0s 0.0
BT 7~ F24 10 | 45.0 F=h—{ 60.9| 66.7 7.3 50. 4 -34.0 11.0/ 8.5 ~ 22 | 48600 s 10.3 0s 0.0
45 |57 7 F25 10 | 45.0 A=l 60.9|  65.2 7.3 49.8 -33.9 11.1] 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
46 |Ha 7 7 >~ F26 1B | 45.0 A=h—fi 60.9| 63.7 7.3 49.2 -33.8 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
47 (R 7 7 F27 1M | 45.0 A=h—fE 60.9| 62.2 7.3 48.6 -33.7 11.3/ 8.5 ~ 22 | 48600 s 10.6 0s 0.0
48 | 7 7 F28 1B | 45.0 A= 62.3|  60.2 7.3 49.3 -33.9 11.1] 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
49 | 7 7 F29 10 | 45.0 F=h—fiE 62.3] 59.1 7.3 49.0 -33.8 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
50 (#5777 F30 1M | 45.0 P ) 60.9| 29.6 7.3 47.8 -33.6 1.4 0 ~ 24 | 57600 s 11. 4| 28800 s 11.4
mi%%@im%ﬁ 1M | 82.0 *'|F5lxE - - - - - -85 ~ 22| mIFE1 42.2 - -
g [ S 1E X e 1B | 922 1 asy - - - - - -6 ~ 22| mike 33.1 — -
| PEIEMIN SRR 1M | 89.2 FolEEl 587 24.4 1.0 47.8 -33.6 55.6| 6 @~ 22 360 s 33.6 — —
@1%5&%@%m&5&@%%?%— 10 | 91.9 FolEE| 587 24.4 1.0 47.8 -33.6 58.3] 6 ~ 22 70 s 29.1 - -
%%%éﬁ%ﬁﬁ@?%Fuyﬁ 1B | 78.6 FolxFE| 58.7] 24.4 1.0 47.8 -33.6 45.0) 6 ~ 22 300 s 22.2 - -
) fif SIXEBHEETH 1M | 85.5 TFHl&E| 587 24.4 0.0 47.8 -33.6 51.9] 6~ 22 300 s 29. 1 — —
MSTEMTEALE LR | 85.6 M| FhlxE| 58.7| 24.4 0.0 47.8 -33.6 52.0] 6~ 22 50 [A] 21.4 — —
EAmBRE L~ TR R 45.7 dB 36.9 dB
BRigILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL, 32 TEEIREE (Im) (2R 2 B E & L~V 2R T,

BE LV OTRFREIZIE, EIfEEEZSBE L TRY $HA,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FH#SB (H=1.2m)

TSR (XY, 7) =( 43.4 83.1, 1.2 )

TR0 ® HEIR A TR B el
J Sy ?’?E'J{&,ﬁ\ R Lii\o‘ﬁg BE#TE X T ks S o | B e Sl 5
. RN FTO | o BRENGE | TR | BREAkGE | TS
i 7 R e | frE B % v 7 B IR B IR BEfGs) | (205 | KEflGs) | ICBUD
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L

[EE= (G (dB) k= (G (dB)
| LR S AC1 1B | 52.0 A=h—fi 61.4| 52.3 1.0 35. 7 -31.0 21.0/ 8.5 ~ 22 | 48600 s 20. 3 0s 0.0
% 2 |ZEaR =S b AC2 1R | 50.0 A=h—fiE 61.4)  49.8 1.0 37.9 -31.6 18.4] 8.5 ~ 22 | 48600 s 17.7 0s 0.0
i% 3 |22 =S AC3 | BiR F| 63.0 A=h—-fE 54.7) 46.9] 10.0 38.9 -31.8 31.2) 8.5 ~ 22 | 48600 s 30.5 0s 0.0
" 72 22 4% AC4 | BARL| 63.0 F=h—fi 56.1| 46.9] 10.0 39.3 -31.9 31.1/ 8.5 ~ 22 | 48600 s 30. 4 0s 0.0
M EEEMRE=I AC5 | BIR L[ 63.0 A= 57.4| 46.9] 10.0 39.8 -32.0 31.0[ 8.5 ~ 22 | 48600 s 30.3 0s 0.0
6 |42 =5k AC6 | R L] 63.0 A=h—fil 58.8| 46.9] 10.0 40. 3 -32.1 30.918.5 ~ 22 | 48600 s 30. 2 0s 0.0
7 |ZETH S S ACT | BARL| 60.0 A=t 53.4| 45.0] 10.0 40. 3 -32.1 27.9/ 8.5 ~ 22 | 48600 s 27.2 0s 0.0
8 (2= H == 4k AC8 | BRI | 60.0 A=l 54.7| 45.0/ 10.0 40. 7 -32.2 27.8[ 8.5 ~ 22 | 48600 s 27. 1 0s 0.0
9 |4 =S AC9 | BIR | 60.0 A=h—fiE 56.1| 45.0] 10.0 41.1 -32.3 27.7/ 8.5 ~ 22 | 48600 s 27.0 0s 0.0
10 | 2= FH == 51 8% AC10 | BfR | 63.0 A=l 57.4] 45.0[ 10.0 41.5 -32. 4 30.6/ 8.5 ~ 22 | 48600 s 29.9 0 s 0.0
11 | ZE 78 2= 4 ACI1 | AR L | 60.0 F=h—fi 58.8| 45.0| 10.0 42.0 -32.5 27.5/ 8.5 ~ 22 | 48600 s 26. 8 0s 0.0
12 | 223 == 518 AC12 | BAR | 58.0 A=h-fE 37.6] 30.8] 10.0 53. 4 -34.5 23.5/ 8.5 ~ 22 | 48600 s 22.8 0s 0.0
13 | 223 I == 4% AC13 | BfR | 58.0 A=h—fil 37.6] 28.8] 10.0 55.3 -34.9 23.1] 8.5 ~ 22 | 48600 s 22. 4 0s 0.0
14 | 225 F 25 4 ACl14 | BiR E| 54.0 F=h—-fiE 58.6| 30.8| 10.0 55. 2 -34.8 19.21 8.5 ~ 22 | 48600 s 18.5 0s 0.0
15 | 253 FH = 41 6% AC15 | BfR | 54.0 A=l 58.6| 28.8] 10.0 57.1 -35.1 18.9/ 8.5 ~ 22 | 48600 s 18.2 0s 0.0
16 |/ R B ] == S RCl | BiR | 63.0 A=l 44.2( 53.2| 10.0 311 -29.9 33.1l 0 ~ 24 | 57600 s 33. 1| 28800 s 33.1
17 |4 1 e P H 22 51 B RC2 [ B L| 53.5 A=h—fiE 46.3| 53.2[ 10.0 31.3 -29.9 23.6] 0~ 24 | 57600 s 23.6| 28800 s 23.6
18 |/ FH == 4 RC3 | B L] 63.0 F=h—fi 44.2| 51.3]  10.0 33.0 -30. 4 32.6) 0~ 24 | 57600 s 32.6| 28800 s 32.6
19 |/ BRs I =2 50 RC4 | BR[| 53.5 A= 46.3]  51.3] 10.0 33.1 -30. 4 23.1] 0~ 24 | 57600 s 23. 1| 28800 s 23. 1
20 | 1R =B 41 RCS | BAR | 48.9 A=h—fiE 57.3] 30.5 10.0 55. 2 -34. 8 4.1l 0 ~ 24 | 57600 s 14. 1| 28800 s 14.1
21 [ 7 7 o~ F1 1M | 31.5 F=h—fiE 28.0| 33.1 3.0 52.3 -34. 4 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
22 (M7 7 F2 1B | 32.0 A=h—fi 28.0| 32.6 3.0 52.8 -34.5 0.0[8.5 ~ 22 | 48600 s 0.0 0s 0.0
23R 7 7 F3 1B | 31.5 A=h—{l 28.0| 32.1 3.0 53.3 -34.5 0.0[8.5 ~ 22 | 48600 s 0.0 0s 0.0
24 K7 7~ F4 1B | 32.0 A=l 60.9| 53.8 3.0 34.2 -30. 7 1.3 8.5 ~ 22 | 48600 s 0.6 0s 0.0
25 (M 7 7 F5 10 | 32.0 A=t~ 60.9| 53.3 3.0 34.6 -30. 8 1.2 0 ~ 24 | 57600 s 1.2| 28800 s 1.2
26 [ 7 7 >~ F6 10 | 32.0 A=h—{ 60.9| 49.1 3.0 38.2 -31.7 0.3 0 ~ 24 | 57600 s 0.3[ 28800 s 0.3
27T |k 7 7 o~ F7 10 | 32.0 F=h—fE 60.9| 48.8 3.0 38.6 -31.7 0.3]8.5 ~ 22 | 48600 s 0.0 0s 0.0
28 [ 7 7 v F8 1B | 31.5 A=h—fiE 60.9| 48.4 3.0 38.9 -31.8 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
29 [(Ha 7 7 F9 1B | 31.0 A=h—fi 60.9| 45.9 3.0 41.1 -32.3 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
30 [T 7 F10 1R | 42.5 F=h—{ 60.9| 44.9 3.0 42.1 -32.5 10.0/ 8.5 ~ 22 | 48600 s 9.3 0s 0.0
31T 7 F11 18 | 31.0 A=l 60.9| 37.5 3.0 48.8 -33.8 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
32 (K7 7 v F12 1B | 26.0 A=h—fi 60.9| 36.9 3.0 49.5 -33.9 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
33 (KT 7 F13 1B | 42.5 P A ) 60.9| 36.5 3.0 49.8 -33.9 8.6 0 ~ 24 | 57600 s 8.6[ 28800 s 8.6
MR T 7 F14 oM | 42.5 F=h—fE 28.0| 34.1 7.3 51.7 -34.3 8.2[8.5 ~ 22 | 48600 s 7.5 0s 0.0
35 [T 7 F15 10 | 32.0 F=h—-fiE 28.0| 27.8 7.3 57.7 -35.2 0.0[8.5 ~ 22 | 48600 s 0.0 0s 0.0
36 (a7 7 F16 1M | 45.0 P A ) 49.5|  72.7 7.3 13.5 -22.6 22.4| 8.5 ~ 22 | 48600 s 21.7 0s 0.0
TR T 7 F17 1B | 45.0 F=h—fE 50.9| 72.7 7.3 14. 2 -23.1 21.9/ 8.5 ~ 22 | 48600 s 21.2 0s 0.0
3BT 7 F18 1B | 45.0 A=l 53.4| 72.7 7.3 15.7 -23.9 21.1/ 8.5 ~ 22 | 48600 s 20. 4 0s 0.0
39 [T 7 v F19 10 | 45.0 A=D1 54.9| 72.7 7.3 16.7 -24. 4 20.6/ 8.5 ~ 22 | 48600 s 19.9 0s 0.0
40 [ 7 7 >~ F20 10 | 45.0 A=h—{ 56.4| 72.7 7.3 17.7 -25.0 20.0/ 8.5 ~ 22 | 48600 s 19.3 0s 0.0
41 |7 7 F21 1B | 45.0 F=h—fE 57.9| 72.7 7.3 18.9 -25.5 19.5) 0~ 24 | 57600 s 19.5| 28800 s 19.5
42 |7 7 F22 1M | 45.0 A=D1 60.9|  69.7 7.3 22.9 -27.2 17.8]| 0~ 24 | 57600 s 17.8| 28800 s 17.8
43 |7 7 >~ F23 1B | 45.0 A=h—fi 60.9| 68.2 7.3 23.8 -27.5 17.5/ 8.5 ~ 22 | 48600 s 16.8 0s 0.0
BT 7~ F24 10 | 45.0 F=h—{ 60.9[ 66.7 7.3 24. 8 -27.9 17.1 8.5 ~ 22 | 48600 s 16.4 0s 0.0
45 |57 7 F25 10 | 45.0 A=l 60.9|  65.2 7.3 25. 8 -28.2 16.8/ 8.5 ~ 22 | 48600 s 16. 1 0s 0.0
46 |Ha 7 7 >~ F26 1B | 45.0 A=h—fi 60.9| 63.7 7.3 26. 8 -28.6 16.4) 8.5 ~ 22 | 48600 s 15.7 0s 0.0
47 (R 7 7 F27 1M | 45.0 A=h—fE 60.9| 62.2 7.3 28.0 -28.9 16.1 8.5 ~ 22 | 48600 s 15. 4 0s 0.0
48 | 7 7 F28 1B | 45.0 A= 62.3|  60.2 7.3 30.3 -29. 6 15.4/ 8.5 ~ 22 | 48600 s 14.7 0s 0.0
49 | 7 7 F29 10 | 45.0 F=h—fiE 62.3] 59.1 7.3 31.2 -29.9 15.1] 8.5 ~ 22 | 48600 s 14. 4 0s 0.0
50 (#5777 F30 1M | 45.0 P ) 60.9| 29.6 7.3 56. 6 -35.1 9.9 0~ 24 | 57600 s 9.9[ 28800 s 9.9
mi%%@im%ﬁ 1M | 82.0 *'|F5lxE - - - - - -85 ~ 22| mIFE1 40. 2 - -
g [ S 1E X e 1B | 922 1 asy - - - - - -6 ~ 22| mike 28.3 —

| PEIEMIN SRR 1M | 89.2 FolEEl 587 24.4 1.0 60. 7 -35. 7 53.5| 6 @~ 22 360 s 31.5 — —
@1%5&%@%m&5&@%%?%— 10 | 91.9 FolEE| 587 24.4 1.0 60. 7 -35.7 56.2| 6 @~ 22 70 s 27.0 - -
%%%éﬁ%ﬁﬁ@?%Fuyﬁ 1B | 78.6 FolxFE| 58.7] 24.4 1.0 60. 7 -35.7 42.9] 6 ~ 22 300 s 20. 1 - -
) fif SIXEBHEETH 1M | 85.5 TFHl&E| 587 24.4 0.0 60. 7 -35.7 49.8] 6 @~ 22 300 s 27.0 — —
MSTEMTEALE LR | 85.6 M| FhlxE| 58.7| 24.4 0.0 60. 7 -35.7 49.9] 6~ 22 50 [A] 19.3 — —
EAmBRE L~ TR R 44.3 dB 36.5 dB
BRigILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL, 32 TEEIREE (Im) (2R 2 B E & L~V 2R T,

BE LV OTRFREIZIE, EIfEEEZSBE L TRY $HA,

4




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FH#SC1 (H=1.2m)

TSR (XY, 7) =( 62.7 24.4 1.2 )

TR0 ® HEIR A TR B el
J Sy ?’?E'J{&,ﬁ\ R Lii\o‘ﬁg BE#TE X T ks S o | B e Sl 5
. RN FTO | o BRENGE | TR | BREAkGE | TS
i 7 R e | frE B % v 7 B IR B IR BEfGs) | (205 | KEflGs) | ICBUD
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L

[EE= (G (dB) k= (G (dB)
| LR S AC1 1B | 52.0 A=h—fi 61.4| 52.3 1.0 28.0 -28.9 23.1/ 8.5 ~ 22 | 48600 s 22. 4 0s 0.0
% 2 |ZEaR =S b AC2 1R | 50.0 A=h—fiE 61.4)  49.8 1.0 25.4 -28. 1 21.9[8.5 ~ 22 | 48600 s 21.2 0s 0.0
i% 3 |22 =S AC3 | BiR F| 63.0 A=h—-fE 54.7) 46.9] 10.0 25.5 -28.1 34.9/ 8.5 ~ 22 | 48600 s 34.2 0s 0.0
" 72 22 4% AC4 | BARL| 63.0 F=h—fi 56.1| 46.9] 10.0 25.1 -28.0 35.0/ 8.5 ~ 22 | 48600 s 34.3 0s 0.0
M EEEMRE=I AC5 | BIR L[ 63.0 A= 57.4| 46.9] 10.0 24.8 -27.9 35.1] 8.5 ~ 22 | 48600 s 34.4 0s 0.0
6 |42 =5k AC6 | R L] 63.0 A=h—fil 58.8| 46.9] 10.0 24.5 -27.8 35.2[ 8.5 ~ 22 | 48600 s 34.5 0s 0.0
7 |ZETH S S ACT | BARL| 60.0 A=t 53.4| 45.0] 10.0 24.3 -27.7 32.3/ 8.5 ~ 22 | 48600 s 31.6 0s 0.0
8 (2= H == 4k AC8 | BRI | 60.0 A=l 54.7| 45.0/ 10.0 23.9 -27.5 32.5[ 8.5 ~ 22 | 48600 s 31.8 0s 0.0
9 |4 =S AC9 | BIR | 60.0 A=h—fE 56.1| 45.0] 10.0 23. 4 -27.4 32.6] 8.5 ~ 22 | 48600 s 31.9 0s 0.0
10 | 2= FH == 51 8% AC10 | BfR | 63.0 A=l 57.4] 45.0[ 10.0 23.1 -27.3 35.71 8.5 ~ 22 | 48600 s 35.0 0 s 0.0
11 | ZE 78 2= 4 ACI1 | AR L | 60.0 F=h—fi 58.8| 45.0| 10.0 22.8 -27.2 32.8/ 8.5 ~ 22 | 48600 s 32.1 0s 0.0
12 | 223 == 518 AC12 | BAR | 58.0 A=h-fE 37.6] 30.8] 10.0 27. 4 -28.7 29.3/ 8.5 ~ 22 | 48600 s 28. 6 0s 0.0
13 | 223 I == 4% AC13 | BfR | 58.0 A=h—fil 37.6] 28.8] 10.0 27.0 -28. 6 29.41 8.5 ~ 22 | 48600 s 28.7 0s 0.0
14 | 225 F 25 4 ACl14 | BiR E| 54.0 F=h—-fiE 58.6| 30.8| 10.0 11.7 -21.3 32.71 8.5 ~ 22 | 48600 s 32.0 0s 0.0
15 | 253 FH = 41 6% AC15 | BfR | 54.0 A=l 58.6| 28.8] 10.0 10.7 -20. 6 33.4[ 8.5 ~ 22 | 48600 s 32.7 0s 0.0
16 |/ R B ] == S RCl | BiR | 63.0 A=l 44.2( 53.2| 10.0 35.4 -31.0 32.00 0 ~ 24 | 57600 s 32.0| 28800 s 32.0
17 |4 1 e P H 22 51 B RC2 [ B L| 53.5 A=h—fiE 46.3| 53.2[ 10.0 34.4 -30. 7 22.8]| 0~ 24 | 57600 s 22.8| 28800 s 22.8
18 |/ FH == 4 RC3 | B L] 63.0 F=h—fi 44.2| 51.3]  10.0 33.9 -30. 6 32.4] 0~ 24 | 57600 s 32.4| 28800 s 32.4
19 |/ BRs I =2 50 RC4 | BR[| 53.5 A= 46.3]  51.3] 10.0 32.8 -30.3 23.2] 0~ 24 | 57600 s 23.2| 28800 s 23.2
20 | 1R =B 41 RCS | BAR | 48.9 A=h—fiE 57.3] 30.5 10.0 12.0 -21.6 27.3] 0~ 24 | 57600 s 27.3| 28800 s 27.3
21 [ 7 7 o~ F1 1M | 31.5 F=h—fiE 28.0| 33.1 3.0 35.9 -31.1 0.4/ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
22 (M7 7 F2 1B | 32.0 A=h—fi 28.0| 32.6 3.0 35. 8 -31.1 0.9]8.5 ~ 22 | 48600 s 0.2 0s 0.0
23R 7 7 F3 1B | 31.5 A=h—{l 28.0| 32.1 3.0 35. 7 -31.0 0.5[8.5 ~ 22 | 48600 s 0.0 0s 0.0
24 K7 7~ F4 1B | 32.0 A=l 60.9| 53.8 3.0 29.5 -29. 4 2.6/8.5 ~ 22 | 48600 s 1.9 0s 0.0
25 (M 7 7 F5 10 | 32.0 A=t~ 60.9| 53.3 3.0 29.0 -29.2 2.8/ 0~ 24 | 57600 s 2.8[ 28800 s 2.8
26 [ 7 7 >~ F6 10 | 32.0 A=h—{ 60.9| 49.1 3.0 24.9 -27.9 4.1 0~ 24 | 57600 s 4.1[ 28800 s 4.1
27T |k 7 7 o~ F7 10 | 32.0 F=h—fE 60.9| 48.8 3.0 24.5 -27.8 4.208.5 ~ 22 | 48600 s 3.5 0s 0.0
28 [ 7 7 v F8 1B | 31.5 A=h—fiE 60.9| 48.4 3.0 24. 2 -27.7 3.8/8.5 ~ 22 | 48600 s 3.1 0s 0.0
29 [(Ha 7 7 F9 1B | 31.0 A=h—fi 60.9| 45.9 3.0 21. 7 -26. 7 4.3 0~ 24 | 57600 s 4.3[ 28800 s 4.3
30 [T 7 F10 1R | 42.5 F=h—{ 60.9| 44.9 3.0 20. 7 -26.3 16.2] 8.5 ~ 22 | 48600 s 15.5 0s 0.0
31T 7 F11 18 | 31.0 A=l 60.9| 37.5 3.0 13.4 -22.5 85 0~ 24 | 57600 s 8.5[ 28800 s 8.5
32 (K7 7 v F12 1B | 26.0 A=h—fi 60.9| 36.9 3.0 12.8 -22.1 3.9/8.5 ~ 22 | 48600 s 3.2 0s 0.0
33 (KT 7 F13 1B | 42.5 P A ) 60.9| 36.5 3.0 12. 4 -21.8 20.7) 0~ 24 | 57600 s 20.7| 28800 s 20. 7
MR T 7 F14 oM | 42.5 F=h—fE 28.0| 34.1 7.3 36.6 -31.3 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
35 [T 7 F15 10 | 32.0 F=h—-fiE 28.0| 27.8 7.3 35.5 -31.0 1.0] 8.5 ~ 22 | 48600 s 0.3 0s 0.0
36 (a7 7 F16 1M | 45.0 P A ) 49.5|  72.7 7.3 50.5 -34.1 10.9/ 8.5 ~ 22 | 48600 s 10. 2 0s 0.0
TR T 7 F17 1B | 45.0 F=h—fE 50.9| 72.7 7.3 50. 2 -34.0 11.0/ 8.5 ~ 22 | 48600 s 10.3 0s 0.0
3BT 7 F18 1B | 45.0 A=l 53.4| 72.7 7.3 49.6 -33.9 11.1] 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
39 [T 7 v F19 10 | 45.0 A=D1 54.9| 72.7 7.3 49.4 -33.9 11.1] 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
40 [ 7 7 >~ F20 10 | 45.0 A=h—{ 56.4| 72.7 7.3 49. 2 -33.8 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
41 |7 7 F21 1B | 45.0 F=h—fE 57.9| 72.7 7.3 49.0 -33.8 11.2] 0~ 24 | 57600 s 11.2| 28800 s 11.2
42 |7 7 F22 1M | 45.0 A=D1 60.9|  69.7 7.3 45.7 -33.2 1.8]| 0~ 24 | 57600 s 11.8| 28800 s 11.8
43 |7 7 >~ F23 1B | 45.0 A=h—fi 60.9| 68.2 7.3 44.3 -32.9 12.1/ 8.5 ~ 22 | 48600 s 11.4 0s 0.0
BT 7~ F24 10 | 45.0 F=h—{ 60.9[ 66.7 7.3 42.8 -32.6 12.4/ 8.5 ~ 22 | 48600 s 11.7 0s 0.0
45 |57 7 F25 10 | 45.0 A=l 60.9|  65.2 7.3 41.3 -32.3 12.7/ 8.5~ 22 | 48600 s 12.0 0s 0.0
46 |Ha 7 7 >~ F26 1B | 45.0 A=h—fi 60.9| 63.7 7.3 39.8 -32.0 13.0/ 8.5 ~ 22 | 48600 s 12.3 0s 0.0
47 (R 7 7 F27 1M | 45.0 A=h—fE 60.9| 62.2 7.3 38.3 -31.7 13.31 8.5 ~ 22 | 48600 s 12.6 0s 0.0
48 | 7 7 F28 1B | 45.0 A= 62.3|  60.2 7.3 36. 4 -31.2 13.8/ 8.5 ~ 22 | 48600 s 13.1 0s 0.0
49 | 7 7 F29 10 | 45.0 F=h—fiE 62.3] 59.1 7.3 35. 2 -30.9 14.1/ 8.5 ~ 22 | 48600 s 13.4 0s 0.0
50 (#5777 F30 1M | 45.0 P ) 60.9| 29.6 7.3 8.3 -18. 4 26.6/ 0~ 24 | 57600 s 26.6| 28800 s 26. 6
mi%%@im%ﬁ 1M | 82.0 *'|F5lxE - - - - - -85 ~ 22| mIFE1 38.2 - -
g [ S 1E X e 1B | 922 1 asy - - - - - -6 ~ 22| mike 34.8 —

| PEIEMIN SRR 1M | 89.2 FolEEl 587 24.4 1.0 4.1 -12.2 77.00 6~ 22 360 s 55. 0 — —
@1%5&%@%m&5&@%%?&— 10 | 91.9 FolEE| 587 24.4 1.0 4.1 -12.2 79.71 6 0~ 22 70 s 50. 5 - -
%iﬁéﬁ%iﬁﬁﬁ%fFuyﬁ 1B | 78.6 FolxFE| 58.7] 24.4 1.0 4.1 -12.2 66.4] 6 ~ 22 300 s 43.6 - -
Eiﬁé@%éﬂ%@ﬁ% 1M | 85.5 TFHl&E| 587 24.4 0.0 4.3 -12.6 72.9] 6 9~ 22 300 s 50. 1 — —
MSTEMTEALE LR | 85.6 M| FhlxE| 58.7| 24.4 0.0 4.3 -12.6 73.00 6 9~ 22 50 [A] 42. 4 — —
EAmBRE L~ TR R 57.9 dB 36.9 dB
BRigILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL, 32 TEEIREE (Im) (2R 2 B E & L~V 2R T,

BE LV OTRFREIZIE, EIfEEEZSBE L TRY $HA,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FHH#NC 2 (H=4.7m)

TR SRR (XY, 72) =( 62.7, 24.4 4.7)

TR0 ® HEIR A TR B el
J Sy ?’?E'J{&,ﬁ\ R Lii\o‘ﬁg BE#TE X T ks S o | B e Sl 5
. RN FTO | o BRENGE | TR | BREAkGE | TS
i 7 R e | frE B % v 7 B IR B IR BEfGs) | (205 | KEflGs) | ICBUD
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L

[EE= (G (dB) k= (G (dB)

| LR S AC1 1B | 52.0 A=h—fi 61.4| 52.3 1.0 28. 2 -29.0 23.0/ 8.5 ~ 22 | 48600 s 22.3 0s 0.0
% 2 |ZEaR =S b AC2 1R | 50.0 A=h—fiE 61.4)  49.8 1.0 25.7 -28.2 21.8[ 8.5 ~ 22 | 48600 s 21.1 0s 0.0
i% 3 |22 =S AC3 | BiR F| 63.0 A=h—-fE 54.7) 46.9] 10.0 24.5 -27.8 35.2 8.5 ~ 22 | 48600 s 34.5 0s 0.0
" 72 22 4% AC4 | BARL| 63.0 F=h—fi 56.1| 46.9] 10.0 24.1 -27.6 35.4/ 8.5 ~ 22 | 48600 s 34.7 0s 0.0
M EEEMRE=I AC5 | BIR L[ 63.0 A= 57.4| 46.9] 10.0 23.8 -27.5 35.5( 8.5 ~ 22 | 48600 s 34.8 0s 0.0
6 |42 =5k AC6 | R L] 63.0 A=h—fil 58.8| 46.9] 10.0 23.5 -27. 4 35.6] 8.5 ~ 22 | 48600 s 34.9 0s 0.0
7 |ZETH S S ACT | BARL| 60.0 A=t 53.4| 45.0] 10.0 23.3 -27.3 32.71 8.5 ~ 22 | 48600 s 32.0 0s 0.0
8 (2= H == 4k AC8 | BRI | 60.0 A=l 54.7| 45.0/ 10.0 22.8 -27.2 32.8[ 8.5 ~ 22 | 48600 s 32.1 0s 0.0
9 |4 =S AC9 | BIR | 60.0 A=h—fE 56.1| 45.0] 10.0 22. 4 -27.0 33.0[ 8.5 ~ 22 | 48600 s 32.3 0s 0.0
10 | 2= FH == 51 8% AC10 | BfR | 63.0 A=l 57.4] 45.0[ 10.0 22.0 -26. 8 36.2| 8.5 ~ 22 | 48600 s 35.5 0 s 0.0
11 | ZE 78 2= 4 ACI1 | AR L | 60.0 F=h—fi 58.8| 45.0| 10.0 21.7 -26.7 33.3/ 8.5 ~ 22 | 48600 s 32.6 0s 0.0
12 | 223 == 518 AC12 | BAR | 58.0 A=h-fE 37.6] 30.8] 10.0 26.5 -28.5 29.5/ 8.5 ~ 22 | 48600 s 28. 8 0s 0.0
13 | 223 I == 4% AC13 | BfR | 58.0 A=h—fil 37.6] 28.8] 10.0 26. 1 -28.3 29.78.5 ~ 22 | 48600 s 29.0 0s 0.0
14 | 225 F 25 4 ACl14 | BiR E| 54.0 F=h—-fiE 58.6| 30.8| 10.0 9.3 -19. 4 34.6/ 8.5 ~ 22 | 48600 s 33.9 0s 0.0
15 | 253 FH = 41 6% AC15 | BfR | 54.0 A=l 58.6| 28.8] 10.0 8.0 -18.1 35.9[ 8.5 ~ 22 [ 48600 s 35.2 0s 0.0
16 |/ R B ] == S RCl | BiR | 63.0 A=l 44.2( 53.2| 10.0 34.7 -30. 8 32.2| 0~ 24 | 57600 s 32.2| 28800 s 32.2
17 |4 1 e P H 22 51 B RC2 [ B L| 53.5 A=h—fiE 46.3| 53.2[ 10.0 33.6 -30.5 23.00 0 ~ 24 | 57600 s 23.0| 28800 s 23.0
18 |/ FH == 4 RC3 | B L] 63.0 F=h—fi 44.2| 51.3]  10.0 33.2 -30. 4 32.6) 0~ 24 | 57600 s 32.6| 28800 s 32.6
19 |/ BRs I =2 50 RC4 | BR[| 53.5 A= 46.3]  51.3] 10.0 32.0 -30. 1 23.4] 0~ 24 | 57600 s 23. 4| 28800 s 23.4
20 | 1R =B 41 RCS | BAR | 48.9 A=h—fiE 57.3] 30.5 10.0 9.7 -19. 8 29.11 0 ~ 24 | 57600 s 29.1| 28800 s 29.1
21 [ 7 7 o~ F1 1M | 31.5 F=h—fiE 28.0| 33.1 3.0 35.9 -31.1 0.4/ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
22 (M7 7 F2 1B | 32.0 A=h—fi 28.0| 32.6 3.0 35. 8 -31.1 0.9]8.5 ~ 22 | 48600 s 0.2 0s 0.0
23R 7 7 F3 1B | 31.5 A=h—{l 28.0| 32.1 3.0 35. 7 -31.0 0.5[8.5 ~ 22 | 48600 s 0.0 0s 0.0
24 K7 7~ F4 10 | 32.0 A=l 60.9| 53.8 3.0 29.5 -29. 4 2.6/8.5 ~ 22 | 48600 s 1.9 0s 0.0
25 (M 7 7 F5 10 | 32.0 A=t~ 60.9| 53.3 3.0 29.0 -29.2 2.8/ 0~ 24 | 57600 s 2.8[ 28800 s 2.8
26 [ 7 7 >~ F6 10 | 32.0 A=h—{ 60.9| 49.1 3.0 24.9 -27.9 4.1 0~ 24 | 57600 s 4.1[ 28800 s 4.1
27T |k 7 7 o~ F7 10 | 32.0 F=h—fE 60.9| 48.8 3.0 24.5 -27.8 4.208.5 ~ 22 | 48600 s 3.5 0s 0.0
28 [ 7 7 v F8 1B | 31.5 A=h—fiE 60.9| 48.4 3.0 24. 2 -27.7 3.8/8.5 ~ 22 | 48600 s 3.1 0s 0.0
29 [(Ha 7 7 F9 1B | 31.0 A=h—fi 60.9| 45.9 3.0 21. 7 -26. 7 4.3 0~ 24 | 57600 s 4.3[ 28800 s 4.3
30 [T 7 F10 1R | 42.5 F=h—{ 60.9| 44.9 3.0 20. 7 -26.3 16.2] 8.5 ~ 22 | 48600 s 15.5 0s 0.0
31T 7 F11 10 | 31.0 A=l 60.9| 37.5 3.0 13.4 -22.5 85 0~ 24 | 57600 s 8.5[ 28800 s 8.5
32 (K7 7 v F12 1B | 26.0 A=h—fi 60.9| 36.9 3.0 12.7 -22.1 3.9/8.5 ~ 22 | 48600 s 3.2 0s 0.0
33 (KT 7 F13 1B | 42.5 P A ) 60.9| 36.5 3.0 12. 4 -21.8 20.7) 0~ 24 | 57600 s 20.7| 28800 s 20. 7
MR T 7 F14 oM | 42.5 F=h—fE 28.0| 34.1 7.3 36. 2 -31.2 11.3/ 8.5 ~ 22 | 48600 s 10.6 0s 0.0
35 [T 7 F15 10 | 32.0 F=h—-fiE 28.0| 27.8 7.3 35.1 -30.9 1.1 8.5 ~ 22 | 48600 s 0.4 0s 0.0
36 (a7 7 F16 1M | 45.0 P A ) 49.5|  72.7 7.3 50. 2 -34.0 11.0/ 8.5 ~ 22 | 48600 s 10.3 0s 0.0
TR T 7 F17 1B | 45.0 F=h—fE 50.9| 72.7 7.3 49.8 -34.0 11.0/ 8.5 ~ 22 | 48600 s 10.3 0s 0.0
3BT 7 F18 1B | 45.0 A=l 53.4| 72.7 7.3 49.3 -33.9 11.1] 8.5 ~ 22 | 48600 s 10. 4 0s 0.0
39 [T 7 v F19 10 | 45.0 A=D1 54.9| 72.7 7.3 49.1 -33.8 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
40 [ 7 7 >~ F20 10 | 45.0 A=h—{ 56.4| 72.7 7.3 48.8 -33.8 11.2/ 8.5 ~ 22 | 48600 s 10.5 0s 0.0
41 |7 7 F21 1B | 45.0 F=h—fE 57.9| 72.7 7.3 48.7 -33.7 1.3]| 0~ 24 | 57600 s 11.3| 28800 s 11.3
42 |7 7 F22 1M | 45.0 A=D1 60.9|  69.7 7.3 45.4 -33.1 1.9 0~ 24 | 57600 s 11.9| 28800 s 11.9
43 |7 7 >~ F23 1B | 45.0 A=h—fi 60.9| 68.2 7.3 43.9 -32.9 12.1/ 8.5 ~ 22 | 48600 s 11.4 0s 0.0
BT 7~ F24 10 | 45.0 F=h—{ 60.9[ 66.7 7.3 42. 4 -32.5 12.5/ 8.5 ~ 22 | 48600 s 11.8 0s 0.0
45 |57 7 F25 10 | 45.0 A=l 60.9|  65.2 7.3 40.9 -32.2 12.8/ 8.5 ~ 22 | 48600 s 12.1 0s 0.0
46 |Ha 7 7 >~ F26 1B | 45.0 A=h—fi 60.9| 63.7 7.3 39. 4 -31.9 13.11 8.5 ~ 22 | 48600 s 12. 4 0s 0.0
47 (R 7 7 F27 1M | 45.0 A=h—fE 60.9| 62.2 7.3 37.9 -31.6 13.4] 8.5 ~ 22 | 48600 s 12.7 0s 0.0
48 | 7 7 F28 1P | 45.0 A= 62.3|  60.2 7.3 35.9 -31.1 13.9/ 8.5 ~ 22 | 48600 s 13.2 0s 0.0
49 | 7 7 F29 10 | 45.0 F=h—fiE 62.3] 59.1 7.3 34.8 -30. 8 14.2/ 8.5 ~ 22 | 48600 s 13.5 0s 0.0
50 (#5777 F30 1M | 45.0 P ) 60.9| 29.6 7.3 6.2 -15.8 29.21 0~ 24 | 57600 s 29.2| 28800 s 29. 2
mi%%@im%ﬁ 1M | 82.0 *'|F5lxE - - - - - -85 ~ 22| mIFE1 38. 1 - -
g [ S 1E X e 1B | 922 1 asy - - - - - -6 ~ 22| mike 33.7 — -
| PEIEMIN SRR 1M | 89.2 FolEEl 587 24.4 1.0 5.5 -14. 8 74.4] 6~ 22 360 s 52. 4 — —
@1%5&%@%m&5&@%%?%— 10 | 91.9 FolEE| 587 24.4 1.0 5.5 -14.8 7.1 6 0~ 22 70 s 47.9 - -
%%%éﬁ%ﬁﬁ@?%Fuyﬁ 1B | 78.6 FolxFE| 58.7] 24.4 1.0 5.5 -14.8 63.8)] 6 ~ 22 300 s 41.0 - -
E/ﬁé@%éiiﬁ% 1M | 85.5 TFHl&E| 587 24.4 0.0 6.2 -15.9 69.6] 6 ~ 22 300 s 46.8 — —
MSTEMTEALE LR | 85.6 M| FhlxE| 58.7| 24.4 0.0 6.2 -15.9 69.71 6 ~ 22 50 [A] 39. 1 — —
EAmBRE L~ TR R 55. 4 dB 37.6 dB
BRigILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL, 32 TEEIREE (Im) (2R 2 B E & L~V 2R T,

BE LV OTRFREIZIE, EIfEEEZSBE L TRY $HA,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FH#SD (H=1.2m)

TSR (XY, 7) =( 25.0 0.8, 1.2)

TR0 ® HEIR A TR B el
J Sy ?’?E'J{&,ﬁ\ R Lii\o‘ﬁg BE#TE X T ks S o | B e Sl 5
. RN FTO | o BRENGE | TR | BREAkGE | TS
i 7 R e | frE B % v 7 B IR B IR BEfGs) | (205 | KEflGs) | ICBUD
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L

[EE= (G (dB) k= (G (dB)

| LR S AC1 1B | 52.0 A=h—fi 61.4| 52.3 1.0 63.1 -36.0 16.0/ 8.5 ~ 22 | 48600 s 15.3 0s 0.0
% 2 |ZEaR =S b AC2 1R | 50.0 A=h—fiE 61.4)  49.8 1.0 61.1 -35.7 14.3/ 8.5~ 22 | 48600 s 13.6 0s 0.0
i% 3 |22 =S AC3 | BiR F| 63.0 A=h—-fE 54.7) 46.9] 10.0 55. 6 -34.9 28.1 8.5 ~ 22 | 48600 s 27.4 0s 0.0
" 72 22 4% AC4 | BARL| 63.0 F=h—fi 56.1| 46.9] 10.0 56. 4 -35.0 28.0/ 8.5 ~ 22 | 48600 s 27.3 0s 0.0
M EEEMRE=I AC5 | BIR L[ 63.0 A= 57.4| 46.9] 10.0 57.1 -35.1 27.918.5 ~ 22 | 48600 s 27.2 0s 0.0
6 |42 =5k AC6 | R L] 63.0 A=h—fil 58.8| 46.9] 10.0 57.9 -35.3 27.718.5 ~ 22 | 48600 s 27.0 0s 0.0
7 |ZETH S S ACT | BARL| 60.0 A=t 53.4| 45.0] 10.0 53. 4 -34.5 25.5/ 8.5 ~ 22 | 48600 s 24. 8 0s 0.0
8 (2= H == 4k AC8 | BRI | 60.0 A=l 54.7| 45.0/ 10.0 54.1 -34.7 25.3] 8.5 ~ 22 | 48600 s 24. 6 0s 0.0
9 |4 =S AC9 | BIR | 60.0 A=h—fE 56.1| 45.0] 10.0 54. 8 -34.8 25.2] 8.5 ~ 22 | 48600 s 24.5 0s 0.0
10 | 2= FH == 51 8% AC10 | BfR | 63.0 A=l 57.4] 45.0[ 10.0 55. 6 -34.9 28.1/ 8.5 ~ 22 | 48600 s 27. 4 0 s 0.0
11 | ZE 78 2= 4 ACI1 | AR L | 60.0 F=h—fi 58.8| 45.0| 10.0 56. 4 -35.0 25.0/ 8.5 ~ 22 | 48600 s 24.3 0s 0.0
12 | 223 == 518 AC12 | BAR | 58.0 A=h-fE 37.6] 30.8] 10.0 33.8 -30. 6 27.4| 8.5 ~ 22 | 48600 s 26. 7 0s 0.0
13 | 223 I == 4% AC13 | BfR | 58.0 A=h—fil 37.6] 28.8] 10.0 32.0 -30. 1 27.918.5 ~ 22 | 48600 s 27.2 0s 0.0
14 | 225 F 25 4 ACl14 | BiR E| 54.0 F=h—-fiE 58.6| 30.8| 10.0 46.0 -33.3 20.7| 8.5 ~ 22 | 48600 s 20.0 0s 0.0
15 | 253 FH = 41 6% AC15 | BfR | 54.0 A=l 58.6| 28.8] 10.0 44. 7 -33.0 21.0[ 8.5 ~ 22 | 48600 s 20.3 0s 0.0
16 |/ R B ] == S RCl | BiR | 63.0 A=l 44.2( 53.2| 10.0 56. 6 -35.1 27.9] 0 ~ 24 | 57600 s 27.9| 28800 s 27.9
17 |4 1 e P H 22 51 B RC2 [ B L| 53.5 A=h—fiE 46.3| 53.2[ 10.0 57.3 -35. 2 18.3] 0~ 24 | 57600 s 18. 3| 28800 s 18.3
18 |/ FH == 4 RC3 | B L] 63.0 F=h—fi 44.2| 51.3]  10.0 54.8 -34.8 28.2| 0~ 24 | 57600 s 28.2| 28800 s 28. 2
19 |/ BRs I =2 50 RC4 | BR[| 53.5 A= 46.3]  51.3] 10.0 55.6 -34.9 18.6] 0 ~ 24 | 57600 s 18.6| 28800 s 18.6
20 | 1R =B 41 RCS | BAR | 48.9 A=h—fiE 57.3] 30.5 10.0 44.8 -33.0 15.9] 0 ~ 24 | 57600 s 15. 9| 28800 s 15.9
21 [ 7 7 o~ F1 1M | 31.5 F=h—fiE 28.0| 33.1 3.0 32.6 -30. 3 1.2] 8.5 ~ 22 | 48600 s 0.5 0s 0.0
22 (M7 7 F2 1B | 32.0 A=h—fi 28.0| 32.6 3.0 32.0 -30. 1 1.9]8.5 ~ 22 | 48600 s 1.2 0s 0.0
23R 7 7 F3 1B | 31.5 A=h—{l 28.0| 32.1 3.0 31.5 -30.0 1.5/ 8.5 ~ 22 | 48600 s 0.8 0s 0.0
24 K7 7~ F4 1B | 32.0 A=l 60.9| 53.8 3.0 64.0 -36. 1 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
25 (M 7 7 F5 10 | 32.0 A=t~ 60.9| 53.3 3.0 63. 6 -36. 1 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
26 [ 7 7 >~ F6 10 | 32.0 A=h—{ 60.9| 49.1 3.0 60. 3 -35. 6 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
27T |k 7 7 o~ F7 10 | 32.0 F=h—fE 60.9| 48.8 3.0 60. 0 -35.6 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
28 [ 7 7 v F8 1B | 31.5 A=h—fiE 60.9| 48.4 3.0 59. 7 -35.5 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
29 [(Ha 7 7 F9 1B | 31.0 A=h—fi 60.9| 45.9 3.0 57.7 -35.2 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
30 [T 7 F10 1R | 42.5 F=h—{ 60.9| 44.9 3.0 56.9 -35. 1 7.4/8.5 ~ 22 | 48600 s 6.7 0s 0.0
31T 7 F11 18 | 31.0 A=l 60.9| 37.5 3.0 51.4 -34. 2 0.0 0 ~ 24 | 57600 s 0.0[ 28800 s 0.0
32 (K7 7 v F12 1B | 26.0 A=h—fi 60.9| 36.9 3.0 51.0 -34.1 0.0[ 8.5 ~ 22 | 48600 s 0.0 0s 0.0
33 (KT 7 F13 1B | 42.5 P A ) 60.9| 36.5 3.0 50. 7 -34.1 8.4 0~ 24 | 57600 s 8.4[ 28800 s 8.4
MR T 7 F14 oM | 42.5 F=h—fE 28.0| 34.1 7.3 34.0 -30. 6 11.9/ 8.5 ~ 22 | 48600 s 11.2 0s 0.0
35 [T 7 F15 10 | 32.0 F=h—-fiE 28.0| 27.8 7.3 27.9 -28.9 3.1/ 8.5 ~ 22 | 48600 s 2.4 0s 0.0
36 (a7 7 F16 1M | 45.0 P A ) 49.5|  72.7 7.3 76.3 -37.6 7.4/8.5 ~ 22 | 48600 s 6.7 0s 0.0
TR T 7 F17 1B | 45.0 F=h—fE 50.9| 72.7 7.3 76. 8 -37.7 7.318.5 ~ 22 | 48600 s 6.6 0s 0.0
3BT 7 F18 1B | 45.0 A=l 53.4| 72.7 7.3 77.6 -37.8 7.2[8.5 ~ 22 | 48600 s 6.5 0s 0.0
39 [T 7 v F19 10 | 45.0 A=D1 54.9| 72.7 7.3 78. 2 -37.9 7.1/ 8.5 ~ 22 | 48600 s 6. 4 0s 0.0
40 [ 7 7 >~ F20 10 | 45.0 A=h—{ 56.4| 72.7 7.3 78.8 -37.9 7.1/ 8.5 ~ 22 | 48600 s 6.4 0s 0.0
41 |7 7 F21 1B | 45.0 F=h—fE 57.9| 72.7 7.3 79. 4 -38.0 7.0 0~ 24 | 57600 s 7.0| 28800 s 7.0
42 |7 7 F22 1M | 45.0 A=D1 60.9|  69.7 7.3 77.9 -37.8 7.2l 0~ 24 | 57600 s 7.2| 28800 s 7.2
43 |7 7 >~ F23 1B | 45.0 A=h—fi 60.9| 68.2 7.3 76.6 -37.7 7.318.5 ~ 22 | 48600 s 6.6 0s 0.0
BT 7~ F24 10 | 45.0 F=h—{ 60.9| 66.7 7.3 75.3 -37.5 7.5/8.5 ~ 22 | 48600 s 6.8 0s 0.0
45 |57 7 F25 10 | 45.0 A=l 60.9|  65.2 7.3 74.0 -37. 4 7.6/8.5 ~ 22 | 48600 s 6.9 0s 0.0
46 |Ha 7 7 >~ F26 1B | 45.0 A=h—fi 60.9| 63.7 7.3 72.7 -37.2 7.8/8.5 ~ 22 | 48600 s 7.1 0s 0.0
47 (R 7 7 F27 1M | 45.0 A=h—{ 60.9| 62.2 7.3 71. 4 -37.1 7.9/8.5 ~ 22 | 48600 s 7.2 0s 0.0
48 | 7 7 F28 1B | 45.0 A= 62.3|  60.2 7.3 70.5 -37.0 8.0[8.5 ~ 22 | 48600 s 7.3 0s 0.0
49 | 7 7 F29 10 | 45.0 F=h—fiE 62.3] 59.1 7.3 69. 5 -36. 8 8.2[8.5 ~ 22 | 48600 s 7.5 0s 0.0
50 (#5777 F30 1M | 45.0 P ) 60.9| 29.6 7.3 46.5 -33.3 1.7 0~ 24 | 57600 s 11.7| 28800 s 11.7
mi%%@im%ﬁ 1M | 82.0 *'|F5lxE - - - - - -85 ~ 22| mIFE1 37.3 - -
g [ S 1E X e 1B | 922 1 asy - - - - - -6 ~ 22| mike 29. 1 — -
| PEIEMIN SRR 1M | 89.2 FolEEl 587 24.4 1.0 41.2 -32.3 56.9] 6 @~ 22 360 s 34.9 — —
@1%5&%@%m&5&@%%?&— 10 | 91.9 FolEE| 587 24.4 1.0 41.2 -32.3 59.6] 6 ~ 22 70 s 30. 4 - -
%%%éﬁ%ﬁﬁ@?%Fuyﬁ 1B | 78.6 FolxFE| 58.7] 24.4 1.0 41.2 -32.3 16.3| 6 ~ 22 300 s 23.5 - -
) fif SIXEBHEETH 1M | 85.5 TFHl&E| 587 24.4 0.0 41. 2 -32.3 53.2] 6 0~ 22 300 s 30.4 — —
MSTEMTEALE LR | 85.6 M| FhlxE| 58.7| 24.4 0.0 41. 2 -32.3 53.3] 6~ 22 50 [A] 22.7 — —
EAmBRE L~ TR R 42.7 dB 31.7 dB
BRigILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL, 32 TEEIREE (Im) (2R 2 B E & L~V 2R T,

BE LV OTRFREIZIE, EIfEEEZSBE L TRY $HA,




AR, RIEEEMETOFMES LANLGFGER

) AR (m) H AR (m) I EAfifRE L)L URH) : LAeq (dB)
Efoﬁ X v , X v , Z«@% A1l A2 B Cc1 C2 D
(G/RM) | fotom | Heatm | HeLom | Helom | He47m | Hel 2m
R1 25.0[ 15.6 0.0] 24.4] 24.0 0.0 514 26.9 26.8 18.9 23.6 23.5 29.9
R2 24.4)  24.0 0.0 24.4] 64.1 0.0 514 40. 2 39.5 30. 0 29.3 29.3 30. 4
R3 24.4)  64.1 0.0 24.4] 74.7 0.0 1028 31.1 30.9 31.9 23.9 23.8 22.6
R4 24.4 641 0.0] 42.8] 64.1 0.0 1028 33.3 33.2 35.1 27.9 27.8 25.6
R5 42.8  64.1 0.0] 58.1] 64.1 0.0 1028 29.1 29. 0 34.7 28.6 28.5 24. 3
R6 42.8  64.1 0.0 42.8] 24.0 0.0 514 32.7 32.6 31.6 33.5 33.4 29. 3
R7 42.8[ 24.0 0.0] 33.8] 24.0 0.0 514 25.8 25.7 20. 1 27.9 27.8 27.0
R8 33.8]  24.0 0.0] 24.4] 24.0 0.0 514 28.0 27.8 20.1 25.3 25.3 28.3
R9 42.8]  24.0 0.0] 43.0| 15.6 0.0 514 23.9 23.9 19.3 29. 0 28. 8 26.9
Sk R L AT O AR L~ L BRI) : LAeq 42.6 42.2 40. 2 38.2 38. 1 37.3
fE5) BEEF Lo TPRFEEICE, B EEEZSBELTBY HA,
RERFEHY (2205 ~26/F) (2, RIERHEBOETIEH D T A,
k2. MIEEFERMETOEMEBES LANILGTER
) LSS (m) FE AT (m) i MR L ~UL R : LAeq (dB)
Ef'ﬁ AR B Al A2 B C1 C2 D
o X Y Z X Y 2 NCY2=T ) _ _ _ _ _
H=1. 2m H=4. Tm H=1. 2m H=1. 2m H=4. Tm H=1. 2m
R1 25.0[ 15.6 0.0] 24.4] 24.0 0.0 7 18.4 18.3 10. 4 15.1 15.1 21.4
R2 24.4f  24.0 0.0] 24.4] 64.1 0.0 7 31.7 31. 1 21.6 20.8 20. 8 21.9
R4 24.4)  64.1 0.0 42.8] 64.1 0.0 7 21.9 21.7 23.6 16. 4 16.3 14.1
R6 42.8  64.1 0.0] 42.8] 24.0 0.0 7 24. 3 24.2 23.1 25.1 24.9 20.9
R7 42.8[  24.0 0.0] 33.8] 24.0 0.0 14 20. 4 20.3 14.6 22.5 22.3 21.5
R9 42.8[ 24.0 0.0 43.0] 15.6 0.0 7 15.5 15. 4 10.8 20. 6 20. 4 18.5
R10 42.8] 24.0 0.0] 58.7| 24.4 0.0 14 20. 6 20. 5 17.2 33.4 31.9 21.9
i S IE & i BT OSBRSS L-~Ur [BRI) : LAeq 33.5 33.1 28.3 34.8 33.7 29. 1
fiE5) BEF LV OTPREEICE, B EEEZSBELTBY HA,

AR AT (225 ~36M5) (2, fof SIXZHFHEWOETITH D £ A,




REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B THHRa (H=1.2m)

TS (Y, 72) =(  15.6 44.7 , 1.2)
e FIRE &l
\ ‘ T - e e | IR
B 15 56 O EE | wme I san | B it
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)

|1 | RS AC1 10 | 52.0 P A ) 61.4| 52.3 1.0 46. 4 -33.3/ 8.5 ~ 22 0s -

% 2 |ZEh =S AC2 1B | 50.0 A=h—fE 61.4[ 49.8 1.0 46. 1 -33.3|8.5 ~ 22 0s -

jﬁf 3 |Z=F Mk AC3 | BR[| 63.0 F=h—fiE 54.7| 46.9| 10.0 40.2 -32.1/ 8.5 ~ 22 0s -

oy ELT T ECN AC4 | EB#RE| 63.0 A=D1 56.1| 46.9| 10.0 41.5 -32.4/ 8.5 ~ 22 0s -

5 |2EH =5 AC5 | R E| 63.0 A==l 57.4| 46.9]  10.0 42. 8 -32.6[ 8.5 ~ 22 0s —

6 (227 H) =S AC6 | B | 63.0 A=h—fE 58.8] 46.9] 10.0 44.1 -32.9/ 8.5 ~ 22 0 s —

7 |ZEFR I EE S ACT | B E| 60.0 A=D1 53.4| 45.0[ 10.0 38.8 -31.8/8.5 ~ 22 0s -

8 (2= =4 AC8 | BIR | 60.0 A=h—fE 54.7|  45.0]  10.0 40. 1 -32.1/ 8.5 ~ 22 0s —

9 [Z=FH ) =S AC9 | B L | 60.0 A=h—fE 56.1] 45.0/ 10.0 41.4 -32.3/ 8.5 ~ 22 0 s —

10 | ZE2 3 I =2 4% ACl0 | BARE| 63.0 A=h—fiE 57.4| 45.0[ 10.0 42.8 -32.6/ 8.5 ~ 22 0s -

11| 223 =2 5% ACll | B#R E| 60.0 A=h—1 58.8| 45.0[ 10.0 44.1 -32.9/8.5 ~ 22 0s -

12 | 223 I == 5% AC12 | BfR L] 58.0 A=l 37.6| 30.8] 10.0 27.5 -28.8/ 8.5 ~ 22 0s —

13 | 23 I == 4% AC13 | BiR E| 58.0 A=-fE 37.6| 28.8] 10.0 28.5 -29.1[ 8.5 ~ 22 0s —

14 | ZZ 3R == 5% AC14 | BAR E| 54.0 A=D1 58.6| 30.8] 10.0 46.1 -33.3/ 8.5 ~ 22 0s -

15 | 223 HI == 5 ACl5 | BIRE| 54.0 A=h—fE 58.6| 28.8] 10.0 46. 7 -33.4| 8.5 ~ 22 0s —

16 |4 15 e JH =2 S B RC1 | @R | 63.0 A=h—fE 44,2 53.2] 10.0 31.1 -29.9] 0 ~ 24 | 28800 s 33.1

L7 | R e == A RC2 | B | 53.5 F=h—-fiE 46.3]  53.2| 10.0 33.1 -30.4f 0~ 24 | 28800 s 23.1

18 |/ R I =2 S RC3 | BIR | 63.0 A=t 44.2|  51.3|  10.0 30. 6 -29.71 0~ 24 | 28800 s 33.3

19 |4 15 e FH =2 51 B RC4 [ BiR | 53.5 A=h—fiE 46.3| 51.3] 10.0 32.6 -30.3] 0~ 24 [ 28800 s 23.2

20 |43 5REE FH =B A RC5 | B | 48.9 F=h—-fiE 57.3|  30.5| 10.0 45.0 -33.1 0~ 24 | 28800 s 15.8

21 [ 7 7 o~ F1 1M | 31.5 A=D1 28.0| 33.1 3.0 17.0 -24.6[ 8.5 ~ 22 0s -

22 [ 7 7 v F2 10 | 32.0 PR ) 28.0| 32.6 3.0 17.4 -24.8/8.5 ~ 22 0s -

23 [k 7 7 F3 1B | 31.5 F=h—fE 28.0| 32.1 3.0 17.7 -25.0[ 8.5 ~ 22 0s —

24 |7 7 v F4 1M | 32.0 F=h—fiE 60.9| 53.8 3.0 46. 2 -33.3/ 8.5 ~ 22 0s -

25 [ 7 7 v F5 10 | 32.0 A=D1 60.9| 53.3 3.0 46. 1 -33.3] 0~ 24 | 28800 s 0.0

26 [k 7 7 F6 10 | 32.0 A=~ 60.9|  49.1 3.0 45.5 -33.2 0~ 24 | 28800 s 0.0

27T (R~ 7 v F7 10 | 32.0 A=h—fiE 60.9| 48.8 3.0 45.5 -33.2[ 8.5 ~ 22 0s -

28 [ 7 7 F8 1M | 31.5 A=h—1i 60.9| 48.4 3.0 45.5 -33.2[ 8.5 ~ 22 0s -

29 [ 7 7 v F9 10 | 31.0 A=h—{ 60.9| 45.9 3.0 45.3 -33.1f 0 ~ 24 | 28800 s 0.0

30 [T 7 v F10 1P | 42.5 A=l 60.9| 44.9 3.0 45.3 -33.1| 8.5 ~ 22 0s —

31T 7 v F11 10 | 31.0 A=D1 60.9| 37.5 3.0 45.9 -33.2] 0~ 24 | 28800 s 0.0

32 (K7 7 F12 10 | 26.0 A=D1 60.9] 36.9 3.0 46. 0 -33.2[8.5 ~ 22 0s -

PR T 7 F13 1R | 42.5 A=~ 60.9| 36.5 3.0 46. 0 -33.3] 0~ 24 | 28800 s 9.2

|k T 7 v F14 2BE | 42.5 A1 28.0|  34.1 7.3 17.4 -24.8[8.5 ~ 22 0s —

35 [T 7 v F15 10 | 32.0 A=D1 28.0| 27.8 7.3 21.8 -26.8[8.5 ~ 22 0s -

36 (K7 7 v F16 10 | 45.0 A=h—{ 49.5|  72.7 7.3 44, 4 -33.0[ 8.5 ~ 22 0s -

TR T 7 F17 10 | 45.0 F=h—fE 50.9| 72.7 7.3 45.5 -33.2[ 8.5 ~ 22 0s —

38 [T 7 F18 1M | 45.0 A=h—fiE 53.4| 727 7.3 47.5 -33.5[ 8.5 ~ 22 0s -

39 [T 7 v F19 10 | 45.0 A=~ 54.9| 727 7.3 48.7 -33.8/8.5 ~ 22 0s -

40 |57 7 F20 10 | 45.0 F=h—fE 56.4| 72.7 7.3 49.9 -34.0[ 8.5 ~ 22 0s -

41 |7 7 F21 1M | 45.0 F=h—-fiE 57.9| 727 7.3 51.2 -34.2 0~ 24 | 28800 s 10.8

42 |7 7 > F22 10 | 45.0 A=t~ 60.9| 69.7 7.3 52.1 -34.3] 0 ~ 24 | 28800 s 10.7

43 |7 7 F23 10 | 45.0 A=h—{ 60.9| 68.2 7.3 51. 4 -34.2[8.5 ~ 22 0s -

44|57 7 F24 1P | 45.0 A=l 60.9| 66.7 7.3 50. 7 -34.1/ 8.5 ~ 22 0s —

45 |7 7 F25 10 | 45.0 A=D1 60.9|  65.2 7.3 50. 1 -34.0/ 8.5 ~ 22 0s -

46 |Ha 7 7 F26 10 | 45.0 PR ) 60.9| 63.7 7.3 49.5 -33.9/8.5 ~ 22 0s -

4T |7 7 F27 10 | 45.0 F=h—fE 60.9|  62.2 7.3 48.9 -33.8/ 8.5 ~ 22 0s —

48 |7 7 F28 10 | 45.0 F=h—fiE 62.3]  60.2 7.3 49.6 -33.9/ 8.5 ~ 22 0s -

49 |M 7 7 F29 10 | 45.0 A=D1 62.3] 59.1 7.3 49.3 -33.9/8.5 ~ 22 0s -

50 [ 7 7 v F30 10 | 45.0 A=h—f 60.9|  29.6 7.3 48.1 -33.6 0 ~ 24 | 28800 s 11.4

" SR 2 LW AT 1R | [RFEFERICEH D 8] - — |85 ~ 22 - -

iy |7 S & AL AT LR | [RRRREICEH Y 4] — -1 6 ~ 22 - -

é} PEFMIIENEZE 1R | [RERERICIERIT D D £8A] - -6 ~ 22 - -

2 | SIXSVEEITHE ) BB 7 ¥ — 1R | [RRERFAICEERS Y A - -1 6 ~ 22 — —

Bl sigpxsmor o KL LB | (RIS RS 0 £ A — s ~ 2 - —

N wsrEarens LB | DRIV T 0 £ 4] - s ~ = - -

M SIXEMFEALE 1R | R ICEEII D Y FHA] - -6 ~ 2 - -

BEE L L D KAB O TR 33.3 dB

L) v 55 dB
EE) BEE L~ LOTFRRMEICE, EIiEEZZBEL THBY FHA,




REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B THHRa (H=1.2m)

TR SR (X, Y, Z2) =( 15.6 44.7 4.7)
e FIRE &l
\ ‘ T - e e | IR
B 15 56 O EE | wme I san | B it
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)

|1 | RS AC1 10 | 52.0 P A ) 61.4| 52.3 1.0 46. 6 -33.4/ 8.5 ~ 22 0s -

% 2 |ZEh =S AC2 1B | 50.0 A=h—fE 61.4[ 49.8 1.0 46. 2 -33.3|8.5 ~ 22 0s -

jﬁf 3 |Z=F Mk AC3 | BR[| 63.0 F=h—fiE 54.7| 46.9| 10.0 39.6 -31.9/ 8.5 ~ 22 0s -

oy ELT T ECN AC4 | EB#RE| 63.0 A=D1 56.1| 46.9| 10.0 40.9 -32.2[8.5 ~ 22 0s -

5 |2EH =5 AC5 | R E| 63.0 A==l 57.4| 46.9]  10.0 42. 2 -32.5[8.5 ~ 22 0s —

6 (227 H) =S AC6 | B | 63.0 A=h—fE 58.8] 46.9] 10.0 43.6 -32.8/ 8.5 ~ 22 0 s —

7 |ZEFR I EE S ACT | B E| 60.0 A=D1 53.4| 45.0[ 10.0 38.2 -31.6/ 8.5 ~ 22 0s -

8 (2= =4 AC8 | BIR | 60.0 A=h—fE 54.7|  45.0]  10.0 39.5 -31.9] 8.5 ~ 22 0s —

9 [Z=FH ) =S AC9 | B L | 60.0 A=h—fE 56.1] 45.0/ 10.0 40. 8 -32.2| 8.5 ~ 22 0 s —

10 | ZE2 3 I =2 4% ACl0 | BARE| 63.0 A=h—fiE 57.4| 45.0[ 10.0 42.2 -32.5[ 8.5 ~ 22 0s -

11| 223 =2 5% ACll | B#R E| 60.0 A=h—1 58.8| 45.0[ 10.0 43.5 -32.8/8.5 ~ 22 0s -

12 | 223 I == 5% AC12 | BfR L] 58.0 A=l 37.6| 30.8] 10.0 26. 6 -28.5| 8.5 ~ 22 0s —

13 | 23 I == 4% AC13 | BiR E| 58.0 A=-fE 37.6| 28.8] 10.0 27.7 -28.8[8.5 ~ 22 0s —

14 | ZZ 3R == 5% AC14 | BAR E| 54.0 A=D1 58.6| 30.8] 10.0 45.5 -33.2[8.5 ~ 22 0s -

15 | 223 HI == 5 ACl5 | BIRE| 54.0 A=h—fE 58.6| 28.8] 10.0 46. 2 -33.3/ 8.5 ~ 22 0s —

16 |4 15 e JH =2 S B RC1 | @R | 63.0 A=h—fE 44,2 53.2] 10.0 30.3 -29.6] 0 ~ 24 | 28800 s 33.4

L7 | R e == A RC2 | B | 53.5 F=h—-fiE 46.3]  53.2| 10.0 32.3 -30.2 0~ 24 | 28800 s 23.3

18 |/ R I =2 S RC3 | B L] 63.0 A=t 44.2|  51.3|  10.0 29. 8 -29.5 0~ 24 | 28800 s 33.5

19 |4 15 e FH =2 51 B RC4 [ BiR | 53.5 A=h—fiE 46.3| 51.3] 10.0 31.9 -30.1f 0~ 24 [ 28800 s 23. 4

20 |43 5REE FH =B A RC5 | B | 48.9 F=h—-fiE 57.3|  30.5| 10.0 44. 4 -32.9] 0~ 24 | 28800 s 16.0

21 [ 7 7 o~ F1 1M | 31.5 A=D1 28.0| 33.1 3.0 17.0 -24.6[ 8.5 ~ 22 0s -

22 [ 7 7 v F2 10 | 32.0 PR ) 28.0| 32.6 3.0 17.4 -24.8/8.5 ~ 22 0s -

23 [k 7 7 F3 1B | 31.5 F=h—fE 28.0| 32.1 3.0 17.7 -25.0[ 8.5 ~ 22 0s —

24 |7 7 v F4 1M | 32.0 F=h—fiE 60.9| 53.8 3.0 46. 2 -33.3/ 8.5 ~ 22 0s -

25 [ 7 7 v F5 10 | 32.0 A=D1 60.9| 53.3 3.0 46. 1 -33.3] 0~ 24 | 28800 s 0.0

26 [k 7 7 F6 10 | 32.0 A=~ 60.9|  49.1 3.0 45.5 -33.2 0~ 24 | 28800 s 0.0

27T (R~ 7 v F7 10 | 32.0 A=h—fiE 60.9| 48.8 3.0 45.5 -33.2[ 8.5 ~ 22 0s -

28 [ 7 7 F8 1M | 31.5 A=h—1i 60.9| 48.4 3.0 45.5 -33.2[ 8.5 ~ 22 0s -

29 [ 7 7 v F9 10 | 31.0 A=h—{ 60.9| 45.9 3.0 45.3 -33.1f 0 ~ 24 | 28800 s 0.0

30 [T 7 v F10 1P | 42.5 A=l 60.9| 44.9 3.0 45.3 -33.1| 8.5 ~ 22 0s —

31T 7 v F11 10 | 31.0 A=D1 60.9| 37.5 3.0 45.9 -33.2] 0~ 24 | 28800 s 0.0

32 (K7 7 F12 10 | 26.0 A=D1 60.9] 36.9 3.0 46. 0 -33.2[8.5 ~ 22 0s -

PR T 7 F13 1R | 42.5 A=~ 60.9| 36.5 3.0 46. 0 -33.3] 0~ 24 | 28800 s 9.2

|k T 7 v F14 2BE | 42.5 A1 28.0|  34.1 7.3 16.5 -24.3[ 8.5 ~ 22 0s —

35 [T 7 v F15 10 | 32.0 A=D1 28.0| 27.8 7.3 21.0 -26.5[8.5 ~ 22 0s -

36 (K7 7 v F16 10 | 45.0 A=h—{ 49.5|  72.7 7.3 44.1 -32.9/8.5 ~ 22 0s -

TR T 7 F17 10 | 45.0 F=h—fE 50.9| 72.7 7.3 45,2 -33.1| 8.5 ~ 22 0s —

38 [T 7 F18 1M | 45.0 A=h—fiE 53.4| 727 7.3 47.2 -33.5[ 8.5 ~ 22 0s -

39 [T 7 v F19 10 | 45.0 A=~ 54.9| 727 7.3 48. 4 -33.7/8.5 ~ 22 0s -

40 |57 7 F20 10 | 45.0 F=h—fE 56.4| 72.7 7.3 49.6 -33.9/ 8.5 ~ 22 0s -

41 |7 7 F21 1M | 45.0 F=h—-fiE 57.9| 727 7.3 50.9 -34.1l 0~ 24 | 28800 s 10.9

42 |7 7 > F22 10 | 45.0 A=t~ 60.9| 69.7 7.3 51.8 -34.3] 0 ~ 24 | 28800 s 10.7

43 |7 7 F23 10 | 45.0 A=h—{ 60.9| 68.2 7.3 51.1 -34.2[8.5 ~ 22 0s -

44|57 7 F24 1P | 45.0 A=l 60.9| 66.7 7.3 50. 4 -34.0[ 8.5 ~ 22 0s —

45 |7 7 F25 10 | 45.0 A=D1 60.9|  65.2 7.3 49.8 -33.9/8.5 ~ 22 0s -

46 |Ha 7 7 F26 10 | 45.0 PR ) 60.9| 63.7 7.3 49. 2 -33.8/8.5 ~ 22 0s -

4T |7 7 F27 10 | 45.0 F=h—fE 60.9|  62.2 7.3 48.6 -33.7| 8.5 ~ 22 0s —

48 |7 7 F28 10 | 45.0 F=h—fiE 62.3]  60.2 7.3 49.3 -33.9/ 8.5 ~ 22 0s -

49 |M 7 7 F29 10 | 45.0 A=D1 62.3] 59.1 7.3 49.0 -33.8/8.5 ~ 22 0s -

50 [ 7 7 v F30 10 | 45.0 A=h—f 60.9|  29.6 7.3 47.8 -33.6 0 ~ 24 | 28800 s 11.4

" SR 2 LW AT 1R | [RFEFERICEH D 8] - — |85 ~ 22 - -

iy |7 S & AL AT LR | [RRRREICEH Y 4] — -1 6 ~ 22 - -

é} PEFMIIENEZE 1R | [RERERICIERIT D D £8A] - -6 ~ 22 - -

2 | SIXSVEEITHE ) BB 7 ¥ — 1R | [RRERFAICEERS Y A - -1 6 ~ 22 — —

Bl sigpxsmor o KL LB | (RIS RS 0 £ A — s ~ 2 - —

N wsrEarens LB | DRIV T 0 £ 4] - s ~ = - -

M SIXEMFEALE 1R | R ICEEII D Y FHA] - -6 ~ 2 - -

BEE L L D KAB O TR 33.5 dB

L) v 55 dB
EE) BEE L~ LOTFRRMEICE, EIiEEZZBEL THBY FHA,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B FHH#AD (H=1.2m)

TR (LY, 7) =( 43.6 75.2 1.2 )
e FIRE &l
. , TR o e e | IR
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)

|1 | RS AC1 10 | 52.0 P A ) 61.4| 52.3 1.0 29.0 -29.3/ 8.5 ~ 22 0s -

% 2 | 2= =AMk AC2 1B | 50.0 F=h—{E 61.4| 49.8 1.0 3.1 -29.8[8.5 ~ 22 0s -

i% 3 |Z=F Mk AC3 | BR[| 63.0 F=h—fiE 54.7| 46.9| 10.0 31.7 -30.0[ 8.5 ~ 22 0s -

oy ELT T ECN AC4 | EB#RE| 63.0 A=D1 56.1| 46.9| 10.0 32.2 -30.2[ 8.5 ~ 22 0s -

5 27 H = oM AC5 | R E| 63.0 A==l 57.4| 46.9]  10.0 32.7 -30.3[8.5 ~ 22 0s —

6 (227 H) =S AC6 | B | 63.0 A=h—fE 58.8] 46.9] 10.0 33.3 -30.5/ 8.5 ~ 22 0 s —

7 |ZEFR I EE S ACT | B E| 60.0 A=D1 53.4| 45.0[ 10.0 32.9 -30.4/ 8.5 ~ 22 0s -

8 (2= =4 AC8 | BIR | 60.0 A=h—fE 54.7|  45.0]  10.0 33.4 -30.5| 8.5 ~ 22 0s —

9 [Z=FH ) =S AC9 | B L | 60.0 A=h—fE 56.1] 45.0/ 10.0 33.8 -30.6/ 8.5 ~ 22 0 s —

10 | ZE2 3 I =2 4% AC10 | AR L | 63.0 A=h—fiE 57.4| 45.0[ 10.0 34. 4 -30.7| 8.5 ~ 22 0s -

11| 223 =2 5% ACll | B#R E| 60.0 A=h—1 58.8| 45.0[ 10.0 34.9 -30.9[8.5 ~ 22 0s -

12 | 223 I == 5% AC12 | BfR L] 58.0 A=l 37.6| 30.8] 10.0 45.7 -33.2| 8.5 ~ 22 0s —

13 | 23 I == 4% AC13 | BiR E| 58.0 A=-fE 37.6| 28.8] 10.0 47.6 -33.6[ 8.5 ~ 22 0s —

14 | ZZ 3R == 5% AC14 | BAR E| 54.0 A=D1 58.6| 30.8] 10.0 47.7 -33.6/ 8.5 ~ 22 0s -

15 | 223 HI == 5 ACl5 | BIRE| 54.0 A=h—fE 58.6| 28.8] 10.0 49. 6 -33.9/ 8.5 ~ 22 0s —

16 |4 15 e JH =2 S B RC1 | @R | 63.0 A=h—fE 44,2 53.2] 10.0 23.7 -27.5] 0 ~ 24 | 28800 s 35.5

L7 | R e == A RC2 | B | 53.5 F=h—-fiE 46.3]  53.2| 10.0 23.8 -27.5 0~ 24 | 28800 s 26. 0

18 |/ R I =2 S RC3 | BMR L[ 63.0 A=l 44.2| 51.3] 10.0 25.5 -28.1l 0~ 24 [ 28800 s 34.9

19 |4 15 e FH =2 51 B RC4 [ BiR | 53.5 A=h—fiE 46.3| 51.3] 10.0 25. 6 -28.2[ 0~ 24 [ 28800 s 25.3

20 |43 5REE FH =B A RC5 | B | 48.9 F=h—-fiE 57.3|  30.5| 10.0 47.7 -33.6 0 ~ 24 | 28800 s 15.3

21 [ 7 7 o~ F1 1M | 31.5 A=D1 28.0| 33.1 3.0 45.0 -33.1| 8.5 ~ 22 0s -

2 |HE 77 F2 10 | 32.0 PR ) 28.0| 32.6 3.0 45. 4 -33.1/ 8.5 ~ 22 0s -

23 [k 7 7 F3 10 | 31.5 A= 28.0| 32.1 3.0 45.9 -33.2[ 8.5 ~ 22 0s —

24 |57 7 F4 1M | 32.0 F=h—fiE 60.9| 53.8 3.0 27.6 -28.8/8.5 ~ 22 0s -

25 [ 7 7 v F5 10 | 32.0 A=D1 60.9| 53.3 3.0 28.0 -28.9] 0 ~ 24 | 28800 s 3.1

26 [k 7 7 F6 10 | 32.0 A=~ 60.9|  49.1 3.0 31. 4 -29.9 0 ~ 24 | 28800 s 2.1

27| 7 7 v F7 1R | 32.0 A=-fE 60.9| 48.8 3.0 31.7 -30.0[ 8.5 ~ 22 0s —

28 [ 7 7 F8 1M | 31.5 A=h—1i 60.9| 48.4 3.0 32.0 -30.1| 8.5 ~ 22 0s -

29 |% 7 7 >~ F9 10 | 31.0 A=h—{ 60.9| 45.9 3.0 34.1 -30.71 0 ~ 24 | 28800 s 0.3

30 [T 7 v F10 1P | 42.5 A=l 60.9| 44.9 3.0 35.0 -30.9[ 8.5 ~ 22 0s —

31 |HE 7 7 v F11 10 | 31.0 A=D1 60.9| 37.5 3.0 41.5 -32.4| 0~ 24 | 28800 s 0.0

32 (K7 7 F12 10 | 26.0 A=D1 60.9] 36.9 3.0 42.1 -32.5[8.5 ~ 22 0s -

PR T 7 F13 1B | 42.5 A=~ 60.9| 36.5 3.0 42.5 -32.6] 0~ 24 | 28800 s 9.9

|k T 7 v F14 2BE | 42.5 A1 28.0|  34.1 7.3 44. 4 -33.0[ 8.5 ~ 22 0s —

35 [T 7 v F15 10 | 32.0 A=D1 28.0| 27.8 7.3 50. 3 -34.0[ 8.5 ~ 22 0s -

36 |BE 7 7 F16 10 | 45.0 A=h—{ 49.5|  72.7 7.3 8.9 -19.0[ 8.5 ~ 22 0s -

TR T 7 F17 10 | 45.0 A= 50.9| 72.7 7.3 9.9 -19.9/ 8.5 ~ 22 0s —

8 |H& 7 7~ F18 1M | 45.0 A=h—fiE 53.4| 727 7.3 11.8 -21.5[ 8.5 ~ 22 0s -

39 [T 7 v F19 10 | 45.0 A=~ 54.9| 727 7.3 13.1 -22.4/ 8.5 ~ 22 0s -

40 |57 7 F20 10 | 45.0 A=~ 56.4| 72.7 7.3 14. 4 -23.2[ 8.5 ~ 22 0s -

41 |7 7 F21 1M | 45.0 F=h—-fiE 57.9| 727 7.3 15.8 -24.0 0 ~ 24 | 28800 s 21.0

42 |7 7 > F22 10 | 45.0 A=t~ 60.9| 69.7 7.3 19.2 -25.6] 0~ 24 | 28800 s 19.4

43 K7 7 F23 10 | 45.0 A=h—{ 60.9| 68.2 7.3 19.6 -25.9/8.5 ~ 22 0s -

44|57 7 F24 1P | 45.0 A=l 60.9| 66.7 7.3 20. 2 -26.1/ 8.5 ~ 22 0s —

45 [R5 7 7 v F25 10 | 45.0 A=D1 60.9|  65.2 7.3 20.9 -26.4/ 8.5 ~ 22 0s -

46 |Ha 7 7 F26 10 | 45.0 PR ) 60.9| 63.7 7.3 21. 7 -26.7| 8.5 ~ 22 0s -

4T |7 7 F27 10 | 45.0 A= 60.9|  62.2 7.3 22.5 -27.0[ 8.5 ~ 22 0s —

48 |7 7 v F28 1 | 45.0 A1 62.3|  60.2 7.3 24.8 -27.9[8.5 ~ 22 0s —

49 |M 7 7 F29 10 | 45.0 A=D1 62.3] 59.1 7.3 25.5 -28.1/ 8.5 ~ 22 0s -

50 |#%. 7 7 F30 10 | 45.0 A=h—f 60.9|  29.6 7.3 49.1 -33.8] 0 ~ 24 | 28800 s 11.2

" SR 2 LW AT 1R | [RFEFERICEH D 8] - — |85 ~ 22 - -

iy |7 S & AL AT LR | [RRRREICEH Y 4] — -1 6 ~ 22 - -

é} PEFMIIENEZE 1R | [RERERICIERIT D D £8A] - -6 ~ 22 - -

w0 SIS ERICH D S H 7 — | 10 | [KHESHEFIEETDY FEA] - -6 ~ 22 — -

Bl sz xdmmior A Ky s 1B | [mmmsms i iis v £ A - e ~ 2 - -

" [wszxanenE LB | DR b ) EeA) - s ~ = - -

M SIXEMFEALE 1R | R ICEEII D Y FHA] - -6 ~ 2 - -

BEE L L D KAB O TR 35.5 dB

L) v 55 dB
EE) BEE L~ LOTFRRMEICE, EIiEEZZBEL THBY FHA,
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BEIZPWTRETHIEEDRERCLDEEFTLANILORRKEDFRAIFER & EHIEN
B FPHH#Nc1 (H=1.2m)

TR (Y, 7) =( 62.8 47.0 , 4.7)
e FIRE &l
‘ ‘ T - e e | IR
B 15 56 O EE | wme I san | B it
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)

|1 | RS AC1 10 | 52.0 P A ) 61.4| 52.3 1.0 6.6 -16.4/ 8.5 ~ 22 0s -

% 2 |ZEh =S AC2 1B | 50.0 A=h—fE 61.4[ 49.8 1.0 4.8 -13.7| 8.5 ~ 22 0s -

jﬁf 3 |z =AM AC3 | EiR L] 63.0 11 54.7  46.9[  10.0 9.7 -19.7(8.5 ~ 22 0s -

oy ELT T ECN AC4 | EB#RE| 63.0 A=D1 56.1| 46.9| 10.0 8.6 -18.7| 8.5 ~ 22 0s -

5 |2EH =5 AC5 | R E| 63.0 A==l 57.4| 46.9]  10.0 7.6 -17.6[ 8.5 ~ 22 0s —

6 (227 H) =S AC6 | B | 63.0 A=h—fE 58.8] 46.9] 10.0 6.7 -16.5| 8.5 ~ 22 0 s —

7 |ZEFR I EE S ACT | B E| 60.0 A=D1 53.4| 45.0[ 10.0 11.0 -20.8/ 8.5 ~ 22 0s -

8 (2= =4 AC8 | BIR | 60.0 A=h—fE 54.7|  45.0]  10.0 9.9 -19.9/ 8.5 ~ 22 0s —

9 [Z=FH ) =S AC9 | B L | 60.0 A=h—fE 56.1] 45.0/ 10.0 8.8 -18.9/ 8.5 ~ 22 0 s —

10 | ZE2 3 I =2 4% ACl0 | BARE| 63.0 A=h—fiE 57.4| 45.0[ 10.0 7.8 -17.9/ 8.5 ~ 22 0s -

11| 223 =2 5% AC1l | BAR L | 60.0 A=h—1 58.8| 45.0[ 10.0 7.0 -16.8[ 8.5 ~ 22 0s -

12 | 223 I == 5% AC12 | BfR L] 58.0 A=l 37.6| 30.8] 10.0 30. 4 -29.7| 8.5 ~ 22 0s —

13 | 23 I == 4% AC13 | BiR E| 58.0 A=-fE 37.6| 28.8] 10.0 31.5 -30.0[ 8.5 ~ 22 0s —

14 | ZZ 3R == 5% AC14 | BAR E| 54.0 A=D1 58.6| 30.8] 10.0 17.5 -24.9/ 8.5 ~ 22 0s -

15 | 223 HI == 5 ACl5 | BIRE| 54.0 A=h—fE 58.6| 28.8] 10.0 19.4 -25.8/ 8.5 ~ 22 0s —

16 |4 15 e JH =2 S B RC1 | @R | 63.0 A=h—fE 44,2 53.2] 10.0 20. 4 -26.2] 0 ~ 24 | 28800 s 36. 8

L7 | R e == A RC2 | B | 53.5 F=h—-fiE 46.3]  53.2| 10.0 18.4 -25.3] 0~ 24 | 28800 s 28. 2

18 |/ R I =2 S RC3 | B L] 63.0 A=t 44.2|  51.3|  10.0 19.9 -26.0 0 ~ 24 | 28800 s 37.0

19 |4 15 e FH =2 51 B RC4 [ BiR | 53.5 A=h—fiE 46.3| 51.3] 10.0 17.9 -25.00 0 ~ 24 [ 28800 s 28.5

20 |43 5REE FH =B A RC5 | B | 48.9 F=h—-fiE 57.3|  30.5| 10.0 18.2 -25.2 0~ 24 | 28800 s 23.7

21 [ 7 7 o~ F1 1M | 31.5 A=D1 28.0| 33.1 3.0 37.6 -31.5[ 8.5 ~ 22 0s -

2 |HE 77 F2 10 | 32.0 PR ) 28.0| 32.6 3.0 37.8 -31.5[ 8.5 ~ 22 0s -

23 [k 7 7 F3 10 | 31.5 F=h—fE 28.0| 32.1 3.0 38.0 -31.6[ 8.5 ~ 22 0s —

24 |57 7 F4 1M | 32.0 F=h—fiE 60.9| 53.8 3.0 7.2 -17.2[ 8.5 ~ 22 0s -

25 [ 7 7 v F5 10 | 32.0 A=D1 60.9| 53.3 3.0 6.8 -16.6] 0 ~ 24 | 28800 s 15. 4

26 [k 7 7 F6 10 | 32.0 F=h—fE 60.9|  49.1 3.0 3.4 -10.5 0~ 24 | 28800 s 21.5

27T (R~ 7 v F7 10 | 32.0 A=h—-fE 60.9| 48.8 3.0 3.1 -9.9/ 8.5 ~ 22 0s -

28 [ 7 7 F8 1M | 31.5 A=h—1i 60.9| 48.4 3.0 3.0 -9.4/ 8.5 ~ 22 0s -

29 |% 7 7 >~ F9 10 | 31.0 A=h—{ 60.9| 45.9 3.0 2.8 -9.0] 0~ 24 | 28800 s 22.0

30 [T 7 v F10 1P | 42.5 A=l 60.9| 44.9 3.0 3.4 -10.5/ 8.5 ~ 22 0s —

31 |HE 7 7 v F11 10 | 31.0 A=D1 60.9| 37.5 3.0 9.8 -19.9] 0~ 24 | 28800 s 11.1

32 (K7 7 F12 10 | 26.0 A=D1 60.9] 36.9 3.0 10.5 -20.4/ 8.5 ~ 22 0s -

PR T 7 F13 1B | 42.5 F=h—fE 60.9| 36.5 3.0 10.9 -20.71 0~ 24 | 28800 s 21.8

|k T 7 v F14 2BE | 42.5 A1 28.0|  34.1 7.3 37.3 -31.4[8.5 ~ 22 0s —

35 [T 7 v F15 10 | 32.0 A=D1 28.0| 27.8 7.3 39.9 -32.0[ 8.5 ~ 22 0s -

36 |BE 7 7 F16 10 | 45.0 A=h—{ 49.5|  72.7 7.3 29.1 -29.3[ 8.5 ~ 22 0s -

TR T 7 F17 10 | 45.0 F=h—fE 50.9| 72.7 7.3 28. 4 -20.1/ 8.5 ~ 22 0s —

8 |H& 7 7~ F18 1M | 45.0 A=h—fiE 53.4| 727 7.3 27.5 -28.8/8.5 ~ 22 0s -

39 [T 7 v F19 10 | 45.0 A=~ 54.9| 727 7.3 27.0 -28.6/ 8.5 ~ 22 0s -

40 |57 7 F20 10 | 45.0 F=h—fE 56.4| 72.7 7.3 26. 6 -28.5[8.5 ~ 22 0s -

41 |7 7 F21 1M | 45.0 F=h—-fiE 57.9| 727 7.3 26. 3 -28.4 0~ 24 | 28800 s 16.6

42 |7 7 > F22 10 | 45.0 A=t~ 60.9| 69.7 7.3 22.9 -27.2 0~ 24 | 28800 s 17.8

43 K7 7 F23 10 | 45.0 A=h—{ 60.9| 68.2 7.3 21. 4 -26.6/ 8.5 ~ 22 0s -

44|57 7 F24 1P | 45.0 A=l 60.9| 66.7 7.3 19.9 -26.0[ 8.5 ~ 22 0s —

45 [R5 7 7 v F25 10 | 45.0 A=D1 60.9|  65.2 7.3 18. 4 -25.3/ 8.5 ~ 22 0s -

46 |Ha 7 7 F26 10 | 45.0 PR ) 60.9| 63.7 7.3 17.0 -24.6/ 8.5 ~ 22 0s -

4T |7 7 F27 10 | 45.0 F=h—fE 60.9|  62.2 7.3 15.5 -23.8/ 8.5 ~ 22 0s —

48 |7 7 F28 10 | 45.0 A=~ 62.3]  60.2 7.3 13.5 -22.6/ 8.5 ~ 22 0s -

49 |M 7 7 F29 10 | 45.0 A=D1 62.3] 59.1 7.3 12.3 -21.8/ 8.5 ~ 22 0s -

50 |#%. 7 7 F30 10 | 45.0 A=h—f 60.9|  29.6 7.3 17.7 -25.0 0 ~ 24 | 28800 s 20. 0

" SR 2 LW AT 1R | [RFEFERICEH D 8] - — 85 ~ 2 - -

iy |7 S & AL AT LR | [RRRREICEH Y 4] — -1 6 ~ 22 - -

éi PEFMIIENEZE 1R | [RERERICIERIT D D £8A] - -6 ~ 22 - -

2 | SIXSVEEITHE ) BB 7 ¥ — 1R | [RRERFAICEERS Y A - -1 6 ~ 22 — —

Bl sigpxsmor o KL LB | (RIS RS 0 £ A — s ~ 2 - —

N wsrEarens LB | DRIV T 0 £ 4] - s ~ = - -

M SIXEMFEALE 1R | R ICEEII D Y FHA] - -6 ~ 2 - -

BEE L L D KAB O TR 37.0 dB

L) v 55 dB
EE) BEE L~ LOTFRRMEICE, EIiEEZZBEL THBY FHA,
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BEIZPWTRETHIEEDRERCLDEEFTLANILORRKEDFRAIFER & EHIEN
B FHH#Nc 2 (H=4.7m)

TR (Y, 7) =( 62.8 47.0 , 4.7)
e FIRE &l
‘ ‘ T - e e | IR
B 15 56 O EE | wme I san | B it
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)

|1 | RS AC1 10 | 52.0 P A ) 61.4| 52.3 1.0 6.6 -16.4/ 8.5 ~ 22 0s -

% 2 |ZEh =S AC2 1B | 50.0 A=h—fE 61.4[ 49.8 1.0 4.8 -13.7| 8.5 ~ 22 0s -

jﬁf 3 |z =AM AC3 | EiR L] 63.0 11 54.7  46.9[  10.0 9.7 -19.7(8.5 ~ 22 0s -

oy ELT T ECN AC4 | EB#RE| 63.0 A=D1 56.1| 46.9| 10.0 8.6 -18.7| 8.5 ~ 22 0s -

5 |2EH =5 AC5 | R E| 63.0 A==l 57.4| 46.9]  10.0 7.6 -17.6[ 8.5 ~ 22 0s —

6 (227 H) =S AC6 | B | 63.0 A=h—fE 58.8] 46.9] 10.0 6.7 -16.5| 8.5 ~ 22 0 s —

7 |ZEFR I EE S ACT | B E| 60.0 A=D1 53.4| 45.0[ 10.0 11.0 -20.8/ 8.5 ~ 22 0s -

8 (2= =4 AC8 | BIR | 60.0 A=h—fE 54.7|  45.0]  10.0 9.9 -19.9/ 8.5 ~ 22 0s —

9 [Z=FH ) =S AC9 | B L | 60.0 A=h—fE 56.1] 45.0/ 10.0 8.8 -18.9/ 8.5 ~ 22 0 s —

10 | ZE2 3 I =2 4% ACl0 | BARE| 63.0 A=h—fiE 57.4| 45.0[ 10.0 7.8 -17.9/ 8.5 ~ 22 0s -

11| 223 =2 5% AC1l | BAR L | 60.0 A=h—1 58.8| 45.0[ 10.0 7.0 -16.8[ 8.5 ~ 22 0s -

12 | 223 I == 5% AC12 | BfR L] 58.0 A=l 37.6| 30.8] 10.0 30. 4 -29.7| 8.5 ~ 22 0s —

13 | 23 I == 4% AC13 | BiR E| 58.0 A=-fE 37.6| 28.8] 10.0 31.5 -30.0[ 8.5 ~ 22 0s —

14 | ZZ 3R == 5% AC14 | BAR E| 54.0 A=D1 58.6| 30.8] 10.0 17.5 -24.9/ 8.5 ~ 22 0s -

15 | 223 HI == 5 ACl5 | BIRE| 54.0 A=h—fE 58.6| 28.8] 10.0 19.4 -25.8/ 8.5 ~ 22 0s —

16 |4 15 e JH =2 S B RC1 | @R | 63.0 A=h—fE 44,2 53.2] 10.0 20. 4 -26.2] 0 ~ 24 | 28800 s 36. 8

L7 | R e == A RC2 | B | 53.5 F=h—-fiE 46.3]  53.2| 10.0 18.4 -25.3] 0~ 24 | 28800 s 28. 2

18 |/ R I =2 S RC3 | B L] 63.0 A=t 44.2|  51.3|  10.0 19.9 -26.0 0 ~ 24 | 28800 s 37.0

19 |4 15 e FH =2 51 B RC4 [ BiR | 53.5 A=h—fiE 46.3| 51.3] 10.0 17.9 -25.00 0 ~ 24 [ 28800 s 28.5

20 |43 5REE FH =B A RC5 | B | 48.9 F=h—-fiE 57.3|  30.5| 10.0 18.2 -25.2 0~ 24 | 28800 s 23.7

21 [ 7 7 o~ F1 1M | 31.5 A=D1 28.0| 33.1 3.0 37.6 -31.5[ 8.5 ~ 22 0s -

2 |HE 77 F2 10 | 32.0 PR ) 28.0| 32.6 3.0 37.8 -31.5[ 8.5 ~ 22 0s -

23 [k 7 7 F3 10 | 31.5 F=h—fE 28.0| 32.1 3.0 38.0 -31.6[ 8.5 ~ 22 0s —

24 |57 7 F4 1M | 32.0 F=h—fiE 60.9| 53.8 3.0 7.2 -17.2[ 8.5 ~ 22 0s -

25 [ 7 7 v F5 10 | 32.0 A=D1 60.9| 53.3 3.0 6.8 -16.6] 0 ~ 24 | 28800 s 15. 4

26 [k 7 7 F6 10 | 32.0 F=h—fE 60.9|  49.1 3.0 3.4 -10.5 0~ 24 | 28800 s 21.5

27T (R~ 7 v F7 10 | 32.0 A=h—-fE 60.9| 48.8 3.0 3.1 -9.9/ 8.5 ~ 22 0s -

28 [ 7 7 F8 1M | 31.5 A=h—1i 60.9| 48.4 3.0 3.0 -9.4/ 8.5 ~ 22 0s -

29 |% 7 7 >~ F9 10 | 31.0 A=h—{ 60.9| 45.9 3.0 2.8 -9.0] 0~ 24 | 28800 s 22.0

30 [T 7 v F10 1P | 42.5 A=l 60.9| 44.9 3.0 3.4 -10.5/ 8.5 ~ 22 0s —

31 |HE 7 7 v F11 10 | 31.0 A=D1 60.9| 37.5 3.0 9.8 -19.9] 0~ 24 | 28800 s 11.1

32 (K7 7 F12 10 | 26.0 A=D1 60.9] 36.9 3.0 10.5 -20.4/ 8.5 ~ 22 0s -

PR T 7 F13 1B | 42.5 F=h—fE 60.9| 36.5 3.0 10.9 -20.71 0~ 24 | 28800 s 21.8

|k T 7 v F14 2BE | 42.5 A1 28.0|  34.1 7.3 37.3 -31.4[8.5 ~ 22 0s —

35 [T 7 v F15 10 | 32.0 A=D1 28.0| 27.8 7.3 39.9 -32.0[ 8.5 ~ 22 0s -

36 |BE 7 7 F16 10 | 45.0 A=h—{ 49.5|  72.7 7.3 29.1 -29.3[ 8.5 ~ 22 0s -

TR T 7 F17 10 | 45.0 F=h—fE 50.9| 72.7 7.3 28. 4 -20.1/ 8.5 ~ 22 0s —

8 |H& 7 7~ F18 1M | 45.0 A=h—fiE 53.4| 727 7.3 27.5 -28.8/8.5 ~ 22 0s -

39 [T 7 v F19 10 | 45.0 A=~ 54.9| 727 7.3 27.0 -28.6/ 8.5 ~ 22 0s -

40 |57 7 F20 10 | 45.0 F=h—fE 56.4| 72.7 7.3 26. 6 -28.5[8.5 ~ 22 0s -

41 |7 7 F21 1M | 45.0 F=h—-fiE 57.9| 727 7.3 26. 3 -28.4 0~ 24 | 28800 s 16.6

42 |7 7 > F22 10 | 45.0 A=t~ 60.9| 69.7 7.3 22.9 -27.2 0~ 24 | 28800 s 17.8

43 K7 7 F23 10 | 45.0 A=h—{ 60.9| 68.2 7.3 21. 4 -26.6/ 8.5 ~ 22 0s -

44|57 7 F24 1P | 45.0 A=l 60.9| 66.7 7.3 19.9 -26.0[ 8.5 ~ 22 0s —

45 [R5 7 7 v F25 10 | 45.0 A=D1 60.9|  65.2 7.3 18. 4 -25.3/ 8.5 ~ 22 0s -

46 |Ha 7 7 F26 10 | 45.0 PR ) 60.9| 63.7 7.3 17.0 -24.6/ 8.5 ~ 22 0s -

4T |7 7 F27 10 | 45.0 F=h—fE 60.9|  62.2 7.3 15.5 -23.8/ 8.5 ~ 22 0s —

48 |7 7 F28 10 | 45.0 A=~ 62.3]  60.2 7.3 13.5 -22.6/ 8.5 ~ 22 0s -

49 |M 7 7 F29 10 | 45.0 A=D1 62.3] 59.1 7.3 12.3 -21.8/ 8.5 ~ 22 0s -

50 |#%. 7 7 F30 10 | 45.0 A=h—f 60.9|  29.6 7.3 17.7 -25.0 0 ~ 24 | 28800 s 20. 0

" SR 2 LW AT 1R | [RFEFERICEH D 8] - — 85 ~ 2 - -

iy |7 S & AL AT LR | [RRRREICEH Y 4] — -1 6 ~ 22 - -

éi PEFMIIENEZE 1R | [RERERICIERIT D D £8A] - -6 ~ 22 - -

2 | SIXSVEEITHE ) BB 7 ¥ — 1R | [RRERFAICEERS Y A - -1 6 ~ 22 — —

Bl sigpxsmor o KL LB | (RIS RS 0 £ A — s ~ 2 - —

N wsrEarens LB | DRIV T 0 £ 4] - s ~ = - -

M SIXEMFEALE 1R | R ICEEII D Y FHA] - -6 ~ 2 - -

BEE L L D KAB O TR 37.0 dB

L) v 55 dB
EE) BEE L~ LOTFRRMEICE, EIiEEZZBEL THBY FHA,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B FHH#Ad (H=1.2m)

TR (LY, 7) =( 46.0 15.6 1.2)
e FIRE &l
\ ‘ T - e e | IR
B 15 56 O EE | wme I san | B it
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)

|1 | RS AC1 10 | 52.0 P A ) 61.4| 52.3 1.0 39. 8 -32.0[ 8.5 ~ 22 0s -

% 2 |ZEh =S AC2 1B | 50.0 A=h—fE 61.4[ 49.8 1.0 37.4 -31.5| 8.5 ~ 22 0s -

jﬁf 3 |Z=F Mk AC3 | BR[| 63.0 F=h—fiE 54.7| 46.9| 10.0 33.7 -30.5[ 8.5 ~ 22 0s -

oy ELT T ECN AC4 | EB#RE| 63.0 A=D1 56.1| 46.9| 10.0 34.0 -30.6[ 8.5 ~ 22 0s -

5 |2EH =5 AC5 | R E| 63.0 A==l 57.4| 46.9]  10.0 34.5 -30.7[8.5 ~ 22 0s —

6 (227 H) =S AC6 | B | 63.0 A=h—fE 58.8] 46.9] 10.0 34.9 -30.9/ 8.5 ~ 22 0 s —

7 |ZEFR I EE S ACT | B E| 60.0 A=D1 53.4| 45.0[ 10.0 31.6 -30.0[ 8.5 ~ 22 0s -

8 (2= =4 AC8 | BIR | 60.0 A=h—fE 54.7|  45.0]  10.0 31.9 -30.1/ 8.5 ~ 22 0s —

9 [Z=FH ) =S AC9 | B L | 60.0 A=h—fE 56.1] 45.0/ 10.0 32.3 -30.2| 8.5 ~ 22 0 s —

10 | ZE2 3 I =2 4% ACl0 | BARE| 63.0 A=h—fiE 57.4| 45.0[ 10.0 32.8 -30.3[ 8.5 ~ 22 0s -

11| 223 =2 5% ACll | B#R E| 60.0 A=h—1 58.8| 45.0[ 10.0 33.3 -30.4/ 8.5 ~ 22 0s -

12 | 223 I == 5% AC12 | BfR L] 58.0 A=l 37.6| 30.8] 10.0 19. 4 -25.8/ 8.5 ~ 22 0s —

13 | 23 I == 4% AC13 | BiR E| 58.0 A=-fE 37.6| 28.8] 10.0 17.9 -25.1[ 8.5 ~ 22 0s —

14 | ZZ 3R == 5% AC14 | BAR E| 54.0 A=D1 58.6| 30.8] 10.0 21. 7 -26.7| 8.5 ~ 22 0s -

15 | 223 HI == 5 ACl5 | BIRE| 54.0 A=h—fE 58.6| 28.8] 10.0 20. 3 -26.1/ 8.5 ~ 22 0s —

16 |4 15 e JH =2 S B RC1 | @R | 63.0 A=h—fE 44,2 53.2] 10.0 38.7 -31.7 0 ~ 24 | 28800 s 31.3

L7 | R e == A RC2 | B | 53.5 F=h—-fiE 46.3]  53.2| 10.0 38.6 3171 0~ 24 | 28800 s 21.8

18 |/ R I =2 S RC3 | BIR | 63.0 A=t 44.2|  51.3|  10.0 36. 8 -31.3] 0~ 24 | 28800 s 31.7

19 |4 15 e FH =2 51 B RC4 [ BiR | 53.5 A=h—fiE 46.3| 51.3] 10.0 36.8 -31.3[ 0~ 24 | 28800 s 22. 2

20 |43 5REE FH =B A RC5 | B | 48.9 F=h—-fiE 57.3|  30.5| 10.0 20. 7 -26.3 0~ 24 | 28800 s 22.6

21 [ 7 7 o~ F1 1M | 31.5 A=D1 28.0| 33.1 3.0 25. 2 -28.0[ 8.5 ~ 22 0s -

22 [ 7 7 v F2 10 | 32.0 PR ) 28.0| 32.6 3.0 24. 8 -27.9/8.5 ~ 22 0s -

23 [k 7 7 F3 1B | 31.5 F=h—fE 28.0| 32.1 3.0 24.5 -27.8/ 8.5 ~ 22 0s —

24 |7 7 v F4 1M | 32.0 F=h—fiE 60.9| 53.8 3.0 41.0 -32.2[8.5 ~ 22 0s -

25 [ 7 7 v F5 10 | 32.0 A=D1 60.9| 53.3 3.0 40. 5 -32.1] 0 ~ 24 | 28800 s 0.0

26 [k 7 7 F6 10 | 32.0 A=~ 60.9|  49.1 3.0 36. 7 313 0~ 24 | 28800 s 0.7

27T (R~ 7 v F7 10 | 32.0 A=h—fiE 60.9| 48.8 3.0 36.4 -31.2[ 8.5 ~ 22 0s -

28 [ 7 7 F8 1M | 31.5 A=h—1i 60.9| 48.4 3.0 36.1 -31.1/ 8.5 ~ 22 0s -

29 [ 7 7 v F9 10 | 31.0 A=h—{ 60.9| 45.9 3.0 33.8 -30.6] 0 ~ 24 | 28800 s 0.4

30 [T 7 v F10 1P | 42.5 A=l 60.9| 44.9 3.0 32.9 -30.3[ 8.5 ~ 22 0s —

31T 7 v F11 10 | 31.0 A=D1 60.9| 37.5 3.0 26.5 -28.5| 0~ 24 | 28800 s 2.5

32 (K7 7 F12 10 | 26.0 A=D1 60.9] 36.9 3.0 26.0 -28.3[ 8.5 ~ 22 0s -

PR T 7 F13 1R | 42.5 A=~ 60.9| 36.5 3.0 25. 7 -28.2 0~ 24 | 28800 s 14.3

|k T 7 v F14 2BE | 42.5 A1 28.0|  34.1 7.3 26.5 -28.5[8.5 ~ 22 0s —

35 [T 7 v F15 10 | 32.0 A=D1 28.0| 27.8 7.3 22.6 -27.1/ 8.5 ~ 22 0s -

36 (K7 7 v F16 10 | 45.0 A=h—{ 49.5|  72.7 7.3 57.5 -35.2[8.5 ~ 22 0s -

TR T 7 F17 10 | 45.0 F=h—fE 50.9| 72.7 7.3 57.6 -35.2[ 8.5 ~ 22 0s —

38 [T 7 F18 1M | 45.0 A=h—fiE 53.4| 727 7.3 57.9 -35.3[ 8.5 ~ 22 0s -

39 [T 7 v F19 10 | 45.0 A=~ 54.9| 727 7.3 58.1 -35.3[ 8.5 ~ 22 0s -

40 |57 7 F20 10 | 45.0 F=h—fE 56.4| 72.7 7.3 58. 4 -35.3[ 8.5 ~ 22 0s -

41 |7 7 F21 1M | 45.0 F=h—-fiE 57.9| 727 7.3 58. 7 -35.4f 0~ 24 | 28800 s 9.6

42 |7 7 > F22 10 | 45.0 A=t~ 60.9| 69.7 7.3 56. 4 -35.0] 0 ~ 24 | 28800 s 10.0

43 |7 7 F23 10 | 45.0 A=h—{ 60.9| 68.2 7.3 54.9 -34.8/8.5 ~ 22 0s -

44|57 7 F24 1P | 45.0 A=l 60.9| 66.7 7.3 53.5 -34.6[ 8.5 ~ 22 0s —

45 |7 7 F25 10 | 45.0 A=D1 60.9|  65.2 7.3 52.1 -34.3/ 8.5 ~ 22 0s -

46 |Ha 7 7 F26 10 | 45.0 PR ) 60.9| 63.7 7.3 50. 7 -34.1/ 8.5 ~ 22 0s -

4T |7 7 F27 10 | 45.0 F=h—fE 60.9|  62.2 7.3 49.2 -33.8/ 8.5 ~ 22 0s —

48 |7 7 F28 10 | 45.0 F=h—fiE 62.3]  60.2 7.3 47.9 -33.6[ 8.5 ~ 22 0s -

49 |M 7 7 F29 10 | 45.0 A=D1 62.3] 59.1 7.3 46.8 -33.4/ 8.5 ~ 22 0s -

50 [ 7 7 v F30 10 | 45.0 A=h—f 60.9|  29.6 7.3 21.3 -26.6] 0 ~ 24 | 28800 s 18.4

" SR 2 LW AT 1R | [RFEFERICEH D 8] - — |85 ~ 22 - -

iy |7 S & AL AT LR | [RRRREICEH Y 4] — -1 6 ~ 22 - -

é} PEFMIIENEZE 1R | [RERERICIERIT D D £8A] - -6 ~ 22 - -

2 | SIXSVEEITHE ) BB 7 ¥ — 1R | [RRERFAICEERS Y A - -1 6 ~ 22 — —

Bl sigpxsmor o KL LB | (RIS RS 0 £ A — s ~ 2 - —

N wsrEarens LB | DRIV T 0 £ 4] - s ~ = - -

M SIXEMFEALE 1R | R ICEEII D Y FHA] - -6 ~ 2 - -

BEE L L D KAB O TR 3.7 dB

L) v 55 dB
EE) BEE L~ LOTFRRMEICE, EIiEEZZBEL THBY FHA,
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